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 1. The question paper will be given in the form of a Question Booklet. There will be four versions 
of question booklets with question booklet alpha code viz. A, B, C & D. 

 2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of 
the question booklet. 

 3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in the 
Examination Hall. 

 4. If you get a Question Booklet where the alpha code does not match to the allotted Alpha Code 
in the seating position, please draw the attention of the Invigilator IMMEDIATELY. 

 5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If 
your Question Booklet is un-numbered, please get it replaced by new Question Booklet with 
same Alpha Code. 

 6. The Question Booklet will be sealed at the middle of the right margin. Candidate should not 
open the Question Booklet, until the indication is given to start answering. 

 7. Immediately after the commencement of the examination, the candidate should check that the 
Question Booklet supplied to him contains all the 100 questions in serial order. The Question 
Booklet does not have unprinted or torn or missing pages and if so he/she should bring it to the 
notice of the Invigilator and get it replaced by a complete booklet with same alpha code. This is 
most important. 

 8. Question Serial No. 1 to 80 are printed both in English and in Kannada. Doubts 
regarding the meaning and translation of question serial No. 1 to 80 will be settled 
based on the questions in English. 

 9. Two blank pages are provided before the last page of this Question Paper for rough work. 
 10. Please read carefully all the instructions on the reverse of the Answer Sheet before 

marking your answers. 
 11. Each question is provided with four choices (A), (B), (C) and (D) having one correct answer. 

Choose the correct answer and darken the bubble corresponding to the question number using 
Blue or Black Ball-Point Pen in the OMR Answer Sheet. 

 12. Each correct answer carries 1 mark and for each wrong answer 1 / 3 mark will be 
deducted. No negative mark for unattended questions. 

 13. No candidate will be allowed to leave the examination hall till the end of the session and 
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that 
the Invigilator has verified all the entries in the Register Number Coding Sheet and that the 
Invigilator has affixed his/her signature in the space provided. 

 14. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind 
of malpractice in the Examination will result in the disqualification of the candidate. 

 INSTRUCTIONS TO CANDIDATES 

Question Booklet 
Alpha Code 

Question Booklet 
Serial Number A 

 Total Number of questions : 100 Time : 1 hour 30 Minutes 

           Maximum Marks : 100 
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1. Who wrote Unniyadi Charitham? 

(A) Rayarambilla (B) Damodara Chakkyar 

(C) Kerala Varma (D) Appan thampuran 

2. Who started the journal Bahishkrit Bharat? 

(A) B.R. Ambedkar (B) Karsondas Mulji 

(C) Bhan Daji (D) Jotiba Phule 

3. What was the main slogan of the Bolsheviks during the revolution? 

(A) Liberty Equality Fraternity (B) Workers of the world 

(C) Peace, Land and Bread (D) Down with the Tsar 

4. The National Security Guard (NSG) works under which union ministry?  

(A) Ministry of commerce and industry (B) Ministry of home affairs 

(C) Ministry of culture (D) Ministry of communications 

5. Doldrums, region characterized by calm air movements, is found in which of the 

following pressure belts? 

(A) Subtropical high-pressure belt (B) Equatorial low-pressure belt 

(C) Subpolar low-pressure belt (D) Polar high-pressure belt 

6. Consider the following rivers 

 (I) Sharavati  

 (II) Tapi 

 (III) Narmada  

 (IV) Vaigai 

 Select the rivers that flow in a rift valley: 

(A)  (I) and (III) (B) (II) and (III) 

(C) (I) and (II) (D) (III) and (IV) 

7. Which among the following is the oldest irrigation project in Kerala? 

(A) Malampuzha irrigation project (B) Pothundi project 

(C) Peechi irrigation project (D) Neyyar irrigation project 
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1. ಈನ್ನಿಮ಺ಡಿ ಚರಿತಂ ಫಯೆದವಯು ಮ಺ಯು?
(A) ಯ಺ಮಯಂಬಿಲ್ಲ (B) ದ಺ಮೋದಯ ಚ಺ಔಯರ್
(C) ಕೆೋಯಳ ವಭಮ (D) ಄಩ಪನ್ ತಂಫೂಯನ್ 

2. ಫಹಿಷ್ಕೃತ ಬ಺ಯತ್ ಩ತ್ರರಕೆಮನುಿ ಮ಺ಯು ಩಺ರಯಂಭಿಸಿದಯು?
(A) ಬಿ.ಅರ್. ಄ಂಫೆೋಡ್ಕರ್ (B) ಔಷೊಮಂಡ್ಸ್ ಭುಲ್ಜಿ
(C) ಬನ್ ದ಺ಜಿ (D) ಜೊೋತ್ರಫ಺ ಫುಲೆ 

3. ಕ಺ರಂತ್ರಮ ಸಭಮದಲ್ಜಲ ಫೊೋಲೆೆವಿಕ ಖಳ ಭುಕಯ ಘೂೋಷ್ಕಣೆ ಮ಺ವುದು?
(A) ಷ಺ಾತಂತರಯ ಸಭ಺ನತೆ ಬ಺ರತೃತಾ (B) ವಿಶ್ಾದ ಕ಺ರ್ಮಮಔಯು
(C) ವ಺ಂತ್ರ, ಬೂರ್ಮ ಭತುು ಯೊಟ್ಟಿ (D) ತ಺ಾರ್ ಗೆ ಄ಂತಯ (Down with the Tsar) 

4. ಯ಺ಷ್ಟ್ರೋಮ ಬದರತ಺ ಸಿಫಬಂದಿ (ಎನ್ ಎಸ್ ಜಿ) ಮ಺ವ ಕೆೋಂದರ ಸಚಿ಴಺ಲ್ಮದ ಄ಡಿಮಲ್ಜಲ ಕ಺ಮಮನ್ನವಮಹಿಸುತುದೆ?
(A) ಴಺ಣಿಜ್ಯ ಭತುು ಕೆೈಗ಺ರಿಕ಺ ಸಚಿ಴಺ಲ್ಮ (B) ಖೃಹ ವಯವಸ಺ಯಖಳ ಸಚಿ಴಺ಲ್ಮ
(C) ಸಂಸೃತ್ರ ಸಚಿ಴಺ಲ್ಮ (D) ಸಂವಹನ ಸಚಿ಴಺ಲ್ಮ 

5. ವ಺ಂತ ಴಺ಮು ಚಲ್ನೆಖಳಂದ ನ್ನಯೂಪಿಸಲ್ಪಟ್ಿ ಩ರದೆೋಶ್಴಺ದ ಡ಺ಲ್್ರಮ್ಸಾ, ಇ ಕೆಳಗಿನ ಮ಺ವ ಑ತುಡ್ದ ವಲ್ಮಖಳಲ್ಜಲ 
ಔಂಡ್ುಫಯುತುದೆ?

(A) ಈಪೋಷ್ಕಣವಲ್ಮದ ಄ಧಿಔ ಑ತುಡ್ದ ಩ಟ್ಟಿ (B) ಸಭಬ಺ಜ್ಔ ಔಡಿಮೆ ಑ತುಡ್ದ ಩ಟ್ಟಿ
(C) ಈ಩ಧುರವ ಔಡಿಮೆ ಑ತುಡ್ದ ಩ಟ್ಟಿ (D) ಧುರವಿೋಮ ಄ಧಿಔ ಑ತುಡ್ದ ಩ಟ್ಟಿ 

6. ಕೆಳಗಿನ ನದಿಖಳನುಿ ಩ರಿಖಣಿಸಿ :
(I)  ಶ್ಯ಺ವತ್ರ 
(II)  ತಪಿ 
(III)  ನಭಮದ಺  
(IV)  ಴ೆೈಗೆೈ 

ಬಿಯುಔು ಔಣಿ಴ೆಮಲ್ಜಲ ಹರಿಮುವ ನದಿಖಳನುಿ ಅಯ್ಕಕಭ಺ಡಿ :
(A)  (I) ಭತುು (III) (B) (II) ಭತುು (III) 
(C) (I) ಭತುು (II) (D) (III) ಭತುು (IV) 

7. ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಕೆೋಯಳದ ಄ತಯಂತ ಹಳೆಮ ನ್ನೋಯ಺ವರಿ ಯೋಜ್ನೆ ಮ಺ವುದು?
(A) ಭಲ್ಂ಩ುಳ ನ್ನೋಯ಺ವರಿ ಯೋಜ್ನೆ (B) ಪೋತುಂಡಿ ಯೋಜ್ನೆ
(C) ಪಿೋಚಿ ನ್ನೋಯ಺ವರಿ ಯೋಜ್ನೆ (D) ನೆಮ಺ಯರ್ ನ್ನೋಯ಺ವರಿ ಯೋಜ್ನೆ 
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8. Which of the following space mission brought Indian astronaut Shubhanshu Shukla to 

the International Space Station? 

(A) Gaganyaan - 4 (B) Artemis mission - 2 

(C) Axiom mission - 4 (D) Blue Origin NS - 18 

9. Which of the following is not a correct match of Five-Year Plan and its objective? 

(A) Tenth Plan  —  Faster and More Inclusive Growth  

(B) Eighth Plan  —  Economic reforms and stabilization 

(C) Twelfth Plan  —  Faster, Sustainable and More Inclusive Growth   

(D) Ninth Plan  —  Growth with Social Justice and Equality 

10. Which of the following correctly differentiates the role of NITI Aayog from that of the 

erstwhile Planning Commission? 

(A) NITI  Aayog retains the power to allocate funds to states, unlike the Planning 

Commission   

(B) NITI Aayog follows a bottom-up approach to planning with emphasis on 

cooperative federalism, while the Planning Commission followed a top-down 

model  

(C)  NITI Aayog prepares Five-Year Plans for the economy, while the Planning 

Commission only gave policy advice  

(D) NITI Aayog is a constitutional body, while the Planning Commission was a 

statutory body  

11. What is the GST rate of capital goods in the country? 

(A) 0% (B) 5% 

(C) 12% (D) 18% 

12. Which of the following states benefited the most during the initial phase of the Green 

Revolution in India? 

(A) Bihar and Odisha (B) Punjab and Haryana 

(C) West Bengal and Assam (D) Rajasthan and Madhya Pradesh 
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8. ಇ ಕೆಳಗಿನ ಮ಺ವ ಫ಺ಸ಺ಯಕ಺ಶ್ ಮ಺ತೆರಮು ಬ಺ಯತ್ರೋಮ ಖಖನಮ಺ತ್ರರ ಶ್ುಬ಺ಂಶ್ು ಶ್ುಕ಺ಲ ಄ವಯನುಿ ಄ಂತಯಯ಺ಷ್ಟ್ರೋಮ 
ಫ಺ಸ಺ಯಕ಺ಶ್ ನ್ನಲ಺ಾಣಕೆಕ ಔಯೆತಂದಿತು?

(A) ಖಖನಮ಺ನ - 4 (B) ಅರ್ೆಮರ್ಮಸ್ ರ್ಮಷ್ಕನ್ - 2

(C) ಅಕ್ಸಾಮಮ್ಸ ರ್ಮಷ್ಕನ್ - 4 (D) ಫೂಲ ಑ರಿಜಿನ್ NS - 18 

9. ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು ಩ಂಚ಴಺ಷ್ಟ್ಮಔ ಯೋಜ್ನೆ ಭತುು ಄ದಯ ಈದೆಾೋಶ್ಕೆಕ ಸರಿಮ಺ಗಿ ಸೊಂದಿಕೆಮ಺ಖುವುದಿಲ್ಲ?

(A) ಹತುನೆೋ ಯೋಜ್ನೆ  –  ಴ೆೋಖ಴಺ದ ಭತುು ಸೆಚುು ಄ಂತಖಮತ ಫೆಳವಣಿಗೆ

(B) ಎಂಟ್ನೆೋ ಯೋಜ್ನೆ –  ಅರ್ಥಮಔ ಸುಧ಺ಯಣೆಖಳು ಭತುು ಸಿಿರಿೋಔಯಣ

(C) ಹನೆಿಯಡ್ನೆೋ ಯೋಜ್ನೆ  –  ಴ೆೋಖ಴಺ದ, ಸುಸಿಿಯ ಭತುು ಸೆಚುು ಄ಂತಖಮತ ಫೆಳವಣಿಗೆ  

(D) ಑ಂಬತುನೆೋ ಯೋಜ್ನೆ  –  ಷ಺ಭ಺ಜಿಔ ನ಺ಯಮ ಭತುು ಸಭ಺ನತೆಯಂದಿಗೆ ಫೆಳವಣಿಗೆ 

10. ನ್ನೋತ್ರ ಅಯೋಖದ ಩಺ತರವನುಿ ಹಿಂದಿನ ಯೋಜ್ನ಺ ಅಯೋಖದ ಩಺ತರದಿಂದ ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು ಸರಿಮ಺ಗಿ 
಩ರತೆಯೋಕ್ಸಸುತುದೆ?

(A) ಯೋಜ್ನ಺ ಅಯೋಖಕ್ಸಕಂತ ಭಿನಿ಴಺ಗಿ, ನ್ನೋತ್ರ ಅಯೋಖವು ಯ಺ಜ್ಯಖಳಗೆ ನ್ನಧಿ ಹಂಚಿಕೆ ಭ಺ಡ್ುವ 
಄ಧಿಕ಺ಯವನುಿ ಈಳಸಿಕೊಂಡಿದೆ

(B) ನ್ನೋತ್ರ ಅಯೋಖವು ಸಹಕ಺ರಿ ಑ಔೂಕಟ್ ವಯವಷೆಿಗೆ ಑ತುು ನ್ನೋಡ್ುವ ಭೂಲ್ಔ ಯೋಜ್ನೆಗೆ ಕೆಳಭಟ್ಿದ 
ವಿಧ಺ನವನುಿ ಄ನುಸರಿಸುತುದೆ, ಅದಯೆ ಯೋಜ್ನ಺ ಅಯೋಖವು ಮೆೋಲ್ಜನ್ನಂದ ಕೆಳಕೆಕ ಭ಺ದರಿಮನುಿ 
಄ನುಸರಿಸುತುದೆ

(C) ನ್ನೋತ್ರ ಅಯೋಖವು ಅರ್ಥಮಔತೆಗ಺ಗಿ ಩ಂಚ಴಺ಷ್ಟ್ಮಔ ಯೋಜ್ನೆಖಳನುಿ ಸಿದಧ಩ಡಿಸುತುದೆ, ಅದಯೆ ಯೋಜ್ನ಺ 
ಅಯೋಖವು ನ್ನೋತ್ರ ಸಲ್ಸೆಮನುಿ ಭ಺ತರ ನ್ನೋಡ್ುತುದೆ  

(D) ನ್ನೋತ್ರ ಅಯೋಖವು ಷ಺ಂವಿಧ಺ನ್ನಔ ಸಂಷೆಿಮ಺ಗಿದೆ, ಅದಯೆ ಯೋಜ್ನ಺ ಅಯೋಖವು ವ಺ಸನಫದಧ 
ಸಂಷೆಿಮ಺ಗಿತುು 

11. ದೆೋಶ್ದಲ್ಜಲ ಫಂಡ್಴಺ಳ ಸಯಔುಖಳ GST ದಯ ಎಷ್ಕುಿ?

(A)  0% (B) 5% 

(C) 12% (D) 18% 

12. ಬ಺ಯತದಲ್ಜಲ ಹಸಿಯು ಕ಺ರಂತ್ರಮ ಅಯಂಭಿಔ ಹಂತದಲ್ಜಲ ಇ ಕೆಳಗಿನ ಮ಺ವ ಯ಺ಜ್ಯಖಳು ಸೆಚುು ಩ರಯೋಜ್ನ ಩ಡೆದವು?

(A) ಬಿಸ಺ಯ ಭತುು ಑ರಿಷ಺ಾ (B) ಩ಂಜ಺ಬ್ ಭತುು ಹರಿಮ಺ಣ

(C) ಩ಶ್ಚುಭ ಫಂಗ಺ಳ ಭತುು ಄ಷ಺ಾಂ (D) ಯ಺ಜ್ಷ಺ಿನ ಭತುು ಭಧಯ ಩ರದೆೋಶ್ 
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13. Consider the following statements about Kerala‘s use of delegated legislation and the 

constitutional safeguards in place to check administrative overreach: 

1. The Kerala Legislature‘s Committee on Subordinate Legislation is empowered to 

scrutinize all executive rule-making that exceeds the scope of the enabling Act. 

2. Judicial review of delegated legislation in Kerala is limited only to procedural 

irregularities, not to the merits or policy content of the rule. 

3. The Kerala High Court has consistently upheld the requirement of ―laying 

procedure‖ for all major delegated legislations before the Legislative Assembly. 

4. Delegated legislation in Kerala often operates without the provision for public 

consultation, which limits participatory governance. 

Which of the statements given above is/are correct? 

(A) 1 and 4 only (B) 2 and 3 only 

(C) 1, 3 and 4 only (D) 1, 2 and 3 only 

14. Kerala‘s approach to disaster management reflects a multi-tiered institutional structure 

and integration with developmental planning. Consider the following table showing 

administrative bodies and their roles: 

 Authority  Role in Disaster Management 

(i) State Disaster Management Authority (1) Final authority for sanctioning 

 (SDMA)   district-level response plans  

(ii) District Disaster Management Authority (2) Headed by the District Collector 

 (DDMA)  and implements local strategies 

(iii) Local Self-Government Institutions (3) Coordinate with central forces  

(LSGIs)  for rescue operations 

(iv) State Planning Board (4) Mainstreams disaster risk 

reduction into state planning  

Which of the following is the correct match of authorities with their roles? 

(A) (i)-(2), (ii)-(3), (iii)-(4), (iv)-(1) (B) (i)-(1), (ii)-(2), (iii)-(3), (iv)-(4) 

(C) (i)-(1), (ii)-(2), (iii)-(4), (iv)-(3) (D) (i)-(4), (ii)-(2), (iii)-(3), (iv)-(1) 
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13. ಅಡ್ಳತ಺ತಮಔ ಄ತ್ರಔರಭಣವನುಿ ಩ರಿಶ್ಚೋಲ್ಜಸಲ್ು ಕೆೋಯಳವು ನ್ನಯೋಜಿತ ವ಺ಸನದ ಫಳಕೆ ಭತುು ಷ಺ಂವಿಧ಺ನ್ನಔ 
ಸುಯಕ್ಷತೆಖಳ ಔುರಿತು ಇ ಕೆಳಗಿನ ಸೆೋಳಕೆಖಳನುಿ ಩ರಿಖಣಿಸಿ :

1.  ಸಕ್ಸರಮಗೊಳಸುವ ಕ಺ಯಿದೆಮ ಴಺ಯಪಿುಮನುಿ ರ್ಮೋರಿದ ಎಲ಺ಲ ಕ಺ಮಮಕ಺ರಿ ನ್ನಮಭ ಯಚನೆಮನುಿ ಩ರಿಶ್ಚೋಲ್ಜಸಲ್ು 
ಕೆೋಯಳ ವ಺ಸಕ಺ಂಖದ ಄ಧಿೋನ ವ಺ಸನ ಸರ್ಮತ್ರಮು ಄ಧಿಕ಺ಯ ಸೊಂದಿದೆ. 

2.  ಕೆೋಯಳದಲ್ಜಲ ನ್ನಯೋಜಿತ ವ಺ಸನದ ನ಺ಯಮ಺ಂಖ ಩ರಿಶ್ಚೋಲ್ನೆಮು ಕ಺ಮಮವಿಧ಺ನದ ಄ಔರಭಖಳಗೆ ಭ಺ತರ 
ಸಿೋರ್ಮತ಴಺ಗಿದೆ, ನ್ನಮಭದ ಄ಹಮತೆಖಳು ಄ಥ಴಺ ನ್ನೋತ್ರ ವಿಷ್ಕಮಕೆಕ ಄ಲ್ಲ. 

3.  ವ಺ಸಕ಺ಂಖ ಸಬೆಮ ಭುಂದೆ ಎಲ಺ಲ ಩ರಭುಕ ನ್ನಯೋಜಿತ ವ಺ಸನಖಳಗೆ ―ಲೆೋಯಿಂಗ್ ಪರಸಿೋಜ್ರ್‖ ಄ಖತಯವನುಿ 
ಕೆೋಯಳ ಸೆೈಕೊೋರ್ಟಮ ಸಿಿಯ಴಺ಗಿ ಎತ್ರುಹಿಡಿದಿದೆ. 

4. ಕೆೋಯಳದಲ್ಜಲ ನ್ನಯೋಜಿತ ವ಺ಸನವು ಷ಺ಭ಺ನಯ಴಺ಗಿ ಷ಺ವಮಜ್ನ್ನಔ ಸಭ಺ಲೊೋಚನೆಗೆ ಄ವಕ಺ಶ್ವಿಲ್ಲದೆ 
ಕ಺ಮಮನ್ನವಮಹಿಸುತುದೆ, ಆದು ಬ಺ಖವಹಿಸುವ ಅಡ್ಳತವನುಿ ಸಿೋರ್ಮತಗೊಳಸುತುದೆ. 

ಮೆೋಲೆ ನ್ನೋಡ್ಲ಺ದ ಸೆೋಳಕೆಖಳಲ್ಜಲ ಮ಺ವುದು ಸರಿಮ಺ಗಿದೆ?

(A)  1 ಭತುು 4 ಭ಺ತರ (B) 2 ಭತುು 3 ಭ಺ತರ

(C) 1, 3 ಭತುು 4 ಭ಺ತರ (D) 1, 2 ಭತುು 3 ಭ಺ತರ 

14. ಕೆೋಯಳದ ವಿ಩ತುು ನ್ನವಮಹಣೆಮ ವಿಧ಺ನವು ಫಹು-ವೆರೋಣಿಮ ಷ಺ಂಸಿಿಔ ಯಚನೆ ಭತುು ಄ಭಿವೃದಿಧ ಯೋಜ್ನೆಯಂದಿಗೆ 
ಏಕ್ಸೋಔಯಣವನುಿ ಩ರತ್ರಬಿಂಬಿಸುತುದೆ. ಅಡ್ಳತ ಸಂಷೆಿಖಳು ಭತುು ಄ವುಖಳ ಩಺ತರಖಳನುಿ ತೊೋರಿಸುವ ಕೆಳಗಿನ 
ಕೊೋಷ್ಕಿಔವನುಿ ಩ರಿಖಣಿಸಿ: 

 ಅಡ್ಳತ ಸಂಷೆಿ  ವಿ಩ತುು ನ್ನವಮಹಣೆಮ ಩಺ತರ 
(i)  ಯ಺ಜ್ಯ ವಿ಩ತುು ನ್ನವಮಹಣ಺ ಩಺ರಧಿಕ಺ಯ  (SDMA) (1)  ಜಿಲ಺ಲ ಭಟ್ಿದ ಩ರತ್ರಕ್ಸರಯ್ಕ ಯೋಜ್ನೆಖಳನುಿ 

಄ನುಮೋದಿಸಲ್ು ಄ಂತ್ರಭ ಩಺ರಧಿಕ಺ಯ  
(ii) ಜಿಲ಺ಲ ವಿ಩ತುು ನ್ನವಮಹಣ಺ ಩಺ರಧಿಕ಺ಯ (DDMA) (2) ಜಿಲ಺ಲಧಿಕ಺ರಿಖಳ ನೆೋತೃತಾದಲ್ಜಲ ಭತುು 

ಸಿಳೋಮ ಕ಺ಮಮತಂತರಖಳನುಿ 
ಕ಺ಮಮಖತಗೊಳಸುತುದೆ 

(iii) ಸಿಳೋಮ ಸಾ-ಸಕ಺ಮರಿ ಸಂಷೆಿಖಳು (LSGI) (3) ಯಕ್ಷಣ಺ ಕ಺ಮ಺ಮಚಯಣೆಖಳಗ಺ಗಿ ಕೆೋಂದರ 
಩ಡೆಖಳೄೆಂದಿಗೆ ಸಭನಾಮ ಷ಺ಧಿಸುವುದು 

(iv) ಯ಺ಜ್ಯ ಯೋಜ್ನ಺ ಭಂಡ್ಳ (4) ಯ಺ಜ್ಯ ಯೋಜ್ನೆಮಲ್ಜಲ ವಿ಩ತುು ಄಩಺ಮವನುಿ 
ಔಡಿಮೆ ಭ಺ಡ್ುವ ಭುಕಯ಴಺ಹಿನ್ನ 

ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು ಄ಧಿಕ಺ರಿಖಳ ಩಺ತರಖಳೄೆಂದಿಗೆ ಸರಿಮ಺ದ ಸೊಂದ಺ಣಿಕೆಮ಺ಗಿದೆ? 

(A) (i)-(2), (ii)-(3), (iii)-(4), (iv)-(1) (B) (i)-(1), (ii)-(2), (iii)-(3), (iv)-(4) 

(C) (i)-(1), (ii)-(2), (iii)-(4), (iv)-(3) (D) (i)-(4), (ii)-(2), (iii)-(3), (iv)-(1) 
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15. Which of the following best explains why the implementation of Land Reforms in Kerala 

succeeded in altering the agrarian structure, yet failed to generate proportionate rural 

industrialisation or employment growth? 

(A) The Land Reforms were legally weak and lacked proper enforcement 

mechanisms.   

(B) The redistribution of land was limited to barren, non-cultivable holdings  

(C) Land Reforms removed absentee landlordism but failed to integrate with a 

long-term rural economic strategy  

(D) The high literacy rate in rural areas led to large-scale migration, making local 

development unfeasible 

16. With reference to the functions and limitations of the Kerala State Planning 

Board(KSPB), consider the following statements: 

1. The KSPB operates independently of the Finance Department and prepares the 

budget for developmental sectors. 

2. KSPB‘s advisory role ensures participatory planning, but it lacks statutory powers 

to enforce implementation. 

3. One of the key functions of the KSPB is to harmonize the objectives of the  

Five-Year Plans with the State‘s annual plans. 

4. KSPB directly monitors the performance of the Local Self-Government Institutions 

(LSGIs) in real time using GIS-based platforms. 

Which of the statements given above are correct? 

(A) 2 and 3 only (B) 1, 2 and 4 only 

(C) 2, 3 and 4 only (D) 1 and 3 only 
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15. ಕೆೋಯಳದಲ್ಜಲ ಬೂ ಸುಧ಺ಯಣೆಖಳ ಄ನುಶ಺ಾನವು ಔೃಷ್ಟ್ ಯಚನೆಮನುಿ ಫದಲ಺ಯಿಸುವಲ್ಜಲ ಮಶ್ಸಿಾಮ಺ಯಿತು, ಅದಯೆ 

಩ರಭ಺ಣ಺ನುಖುಣ಴಺ದ ಗ಺ರರ್ಮೋಣ ಕೆೈಗ಺ರಿಕ್ಸೋಔಯಣ ಄ಥ಴಺ ಈದೊಯೋಖ ಫೆಳವಣಿಗೆಮನುಿ ಸೃಷ್ಟ್ಿಸುವಲ್ಜಲ ವಿಪಲ್಴಺ಯಿತು 

ಎಂಫುದನುಿ ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು ಈತುಭ಴಺ಗಿ ವಿವರಿಸುತುದೆ?

(A) ಬೂ ಸುಧ಺ಯಣೆಖಳು ಕ಺ನೂನುಫದಧ಴಺ಗಿ ದುಫಮಲ್಴಺ಗಿದಾವು ಭತುು ಸರಿಮ಺ದ ಜ಺ರಿ 

ಕ಺ಮಮವಿಧ಺ನಖಳನುಿ ಸೊಂದಿಯಲ್ಜಲ್ಲ

(B) ಬೂರ್ಮಮ ಩ುನವಿಮತಯಣೆಮು ಫಂಜ್ಯು, ಔೃಷ್ಟ್ ಭ಺ಡ್ಲ಺ಖದ ಹಿಡ್ುವಳಖಳಗೆ ಸಿೋರ್ಮತ಴಺ಗಿತುು

(C) ಬೂ ಸುಧ಺ಯಣೆಖಳು ಗೆೈಯುಸ಺ಜ್ರಿ ಬೂ ಭ಺ಲ್ಜೋಔತಾವನುಿ ತೆಗೆದುಸ಺ಕ್ಸದವು ಅದಯೆ ದಿೋಗಮಕ಺ಲ್ಜೋನ 

ಗ಺ರರ್ಮೋಣ ಅರ್ಥಮಔ ಕ಺ಮಮತಂತರದೊಂದಿಗೆ ಸಂಯೋಜಿಸಲ್ು ವಿಪಲ್಴಺ದವು  

(D) ಗ಺ರರ್ಮೋಣ ಩ರದೆೋಶ್ಖಳಲ್ಜಲನ ಸೆಚಿುನ ಷ಺ಕ್ಷಯತೆಮ ಩ರಭ಺ಣವು ದೊಡ್್ ಩ರಭ಺ಣದ ವಲ್ಷೆಗೆ ಕ಺ಯಣ಴಺ಯಿತು, 

ಆದು ಸಿಳೋಮ ಄ಭಿವೃದಿಧಮನುಿ ಄ಷ಺ಧಯ಴಺ಗಿಸಿತು 

16. ಕೆೋಯಳ ಯ಺ಜ್ಯ ಯೋಜ್ನ಺ ಭಂಡ್ಳಮ (KSPB) ಕ಺ಮಮಖಳು ಭತುು ರ್ಮತ್ರಖಳನುಿ ಈಲೆಲೋಖಿಸಿ, ಇ ಕೆಳಗಿನ 

ಸೆೋಳಕೆಖಳನುಿ ಩ರಿಖಣಿಸಿ :

1.  KSPB ಹಣಕ಺ಸು ಆಲ಺ಖೆಯಿಂದ ಸಾತಂತರ಴಺ಗಿ ಕ಺ಮಮನ್ನವಮಹಿಸುತುದೆ ಭತುು ಄ಭಿವೃದಿಧ ವಲ್ಮಖಳಗೆ ಫಜೆರ್ಟ 

಄ನುಿ ಸಿದಧ಩ಡಿಸುತುದೆ. 

2.  KSPB ಮ ಸಲ್ಸ಺ ಩಺ತರವು ಬ಺ಖವಹಿಸುವ ಯೋಜ್ನೆಮನುಿ ಕಚಿತ಩ಡಿಸುತುದೆ, ಅದಯೆ ಄ನುಶ಺ಾನವನುಿ 

ಜ಺ರಿಗೊಳಸಲ್ು ಄ದಕೆಕ ವ಺ಸನಫದಧ ಄ಧಿಕ಺ಯವಿಲ್ಲ. 

3.  KSPB ಮ ಩ರಭುಕ ಕ಺ಮಮಖಳಲ್ಜಲ ಑ಂದು ಩ಂಚ಴಺ಷ್ಟ್ಮಔ ಯೋಜ್ನೆಖಳ ಈದೆಾೋಶ್ಖಳನುಿ ಯ಺ಜ್ಯದ ಴಺ಷ್ಟ್ಮಔ 

ಯೋಜ್ನೆಖಳೄೆಂದಿಗೆ ಸಭನಾಮಗೊಳಸುವುದು. 

4.  GIS-ಅಧ಺ರಿತ ಴ೆೋದಿಕೆಖಳನುಿ ಫಳಸಿಕೊಂಡ್ು KSPB ಸಿಳೋಮ ಸಾ-ಸಕ಺ಮರಿ ಸಂಷೆಿಖಳ (LSGI) 

ಕ಺ಮಮಕ್ಷಭತೆಮನುಿ ನೆೈಜ್ ಸಭಮದಲ್ಜಲ ನೆೋಯ಴಺ಗಿ ಮೆೋಲ್ಜಾಚ಺ಯಣೆ ಭ಺ಡ್ುತುದೆ. 

ಮೆೋಲೆ ನ್ನೋಡ್ಲ಺ದ ಸೆೋಳಕೆಖಳಲ್ಜಲ ಮ಺ವುದು ಸರಿಮ಺ಗಿದೆ?

(A)  2 ಭತುು 3 ಭ಺ತರ (B) 1, 2 ಭತುು 4 ಭ಺ತರ

(C) 2, 3 ಭತುು 4 ಭ಺ತರ (D) 1 ಭತುು 3 ಭ಺ತರ  
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17. In the context of Kerala‘s approach to e-Governance, which of the following reflects the 

key factors that have contributed to its relative success at the grassroots level? 

1. Integration of e-Governance with decentralized planning processes. 

2. Strong technical support from autonomous agencies like the Information Kerala 

Mission (IKM). 

3. Exclusive dependence on private IT vendors for public service delivery platforms. 

4. Active involvement of local self-government institutions (LSGIs) in digitizing 

citizen services. 

Which of the statements given above are correct? 

(A) 1, 2 and 4 only (B) 2 and 3 only 

(C) 1 and 3 only (D) 1, 2, 3 and 4 

18. In 2024, the Government of Kerala launched the ―Climate Resilient Kerala Initiative‖ 

(CRKI), which aligns with the state‘s disaster risk reduction and sustainable 

development goals. Which of the following features correctly describe this initiative in 

the context of Kerala‘s governance and planning system? 

1. It integrates climate adaptation strategies directly into local self-government (LSG) 

level plans. 

2. It is coordinated by the Kerala State Disaster Management Authority (KSDMA) 

and funded solely by the World Bank. 

3. It emphasizes watershed-based development and nature-based solutions for 

disaster-prone zones. 

4. It mandates the use of climate vulnerability indexing in district-level planning. 

Which of the statements given above are correct? 

(A) 1, 2 and 4 only (B) 1, 3 and 4 only 

(C) 2 and 3 only (D) 1 and 4 only 
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17. ಕೆೋಯಳದ ಆ-ಅಡ್ಳತದ ವಿಧ಺ನದ ಸಂದಬಮದಲ್ಜಲ, ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು ಄ದಯ ತಳಭಟ್ಿದ ಮಶ್ಸಿಾಗೆ 

ಕ಺ಯಣ಴಺ದ ಩ರಭುಕ ಄ಂಶ್ಖಳನುಿ ಩ರತ್ರಬಿಂಬಿಸುತುದೆ?

1.  ವಿಕೆೋಂದಿರೋಔೃತ ಯೋಜ್ನ಺ ಩ರಕ್ಸರಯ್ಕಖಳೄೆಂದಿಗೆ ಆ-ಅಡ್ಳತದ ಏಕ್ಸೋಔಯಣ. 

2.  ಭ಺ಹಿತ್ರ ಕೆೋಯಳ ರ್ಮಷ್ಕನ್ (IKM) ನಂತಹ ಷ಺ಾಮತು ಸಂಷೆಿಖಳಂದ ಫಲ್಴಺ದ ತ಺ಂತ್ರರಔ ಫೆಂಫಲ್. 

3.  ಷ಺ವಮಜ್ನ್ನಔ ಷೆೋ಴಺ ವಿತಯಣ಺ ಴ೆೋದಿಕೆಖಳಗ಺ಗಿ ಖ಺ಸಗಿ IT ಭ಺ಯ಺ಟ್ಗ಺ಯಯ ಮೆೋಲೆ ವಿವೆೋಷ್ಕ ಄ವಲ್ಂಫನೆ. 

4.  ನ಺ಖರಿಔ ಷೆೋ಴ೆಖಳನುಿ ಡಿಜಿಟ್ಲ್ಜೋಔಯಣಗೊಳಸುವಲ್ಜಲ ಸಿಳೋಮ ಸಾ-ಸಕ಺ಮರಿ ಸಂಷೆಿಖಳ (LSGI) ಸಕ್ಸರಮ 

಑ಳಗೊಳುುವಿಕೆ. 

ಮೆೋಲೆ ನ್ನೋಡ್ಲ಺ದ ಸೆೋಳಕೆಖಳಲ್ಜಲ ಮ಺ವುದು ಸರಿಮ಺ಗಿದೆ?

(A) 1, 2 ಭತುು 4 ಭ಺ತರ (B) 2 ಭತುು 3 ಭ಺ತರ

(C) 1 ಭತುು 3 ಭ಺ತರ (D) 1, 2, 3 ಭತುು 4 

18. 2024 ಯಲ್ಜಲ, ಕೆೋಯಳ ಸಕ಺ಮಯವು "ಹ಴಺ಭ಺ನ ಸಿಿತ್ರಷ಺ಿ಩ಔ ಕೆೋಯಳ ಈ಩ಔರಭ" (CRKI) ಄ನುಿ ಩಺ರಯಂಭಿಸಿತು, ಆದು 

ಯ಺ಜ್ಯದ ವಿ಩ತುು ಄಩಺ಮ ಔಡಿತ ಭತುು ಸುಸಿಿಯ ಄ಭಿವೃದಿಧ ಖುರಿಖಳೄೆಂದಿಗೆ ಸೊಂದಿಕೆಮ಺ಖುತುದೆ. ಕೆೋಯಳದ ಅಡ್ಳತ 

ಭತುು ಯೋಜ್ನ಺ ವಯವಷೆಿಮ ಸಂದಬಮದಲ್ಜಲ ಇ ಈ಩ಔರಭವನುಿ ಇ ಕೆಳಗಿನ ಮ಺ವ ಴ೆೈಶ್ಚಷ್ಕಿಯಖಳು ಸರಿಮ಺ಗಿ 

ವಿವರಿಸುತು಴ೆ?

1.  ಆದು ಹ಴಺ಭ಺ನ ಸೊಂದ಺ಣಿಕೆಮ ತಂತರಖಳನುಿ ನೆೋಯ಴಺ಗಿ ಸಿಳೋಮ ಸಾ-ಸಕ಺ಮಯ (LSG) ಭಟ್ಿದ 

ಯೋಜ್ನೆಖಳಗೆ ಸಂಯೋಜಿಸುತುದೆ. 

2.  ಆದನುಿ ಕೆೋಯಳ ಯ಺ಜ್ಯ ವಿ಩ತುು ನ್ನವಮಹಣ಺ ಩಺ರಧಿಕ಺ಯ (KSDMA) ಸಂಯೋಜಿಸುತುದೆ ಭತುು ವಿಶ್ಾ ಫ಺ಯಂಕ ನ್ನಂದ 

ಭ಺ತರ ಹಣವನುಿ ಩ಡೆಮುತುದೆ. 

3.  ಆದು ವಿ಩ತುು ಪಿೋಡಿತ ವಲ್ಮಖಳಗೆ ಜ್ಲ಺ನಮನ ಅಧ಺ರಿತ ಄ಭಿವೃದಿಧ ಭತುು ಩ರಔೃತ್ರ ಅಧ಺ರಿತ ಩ರಿಸ಺ಯಖಳಗೆ 

಑ತುು ನ್ನೋಡ್ುತುದೆ. 

4.  ಆದು ಜಿಲ಺ಲ ಭಟ್ಿದ ಯೋಜ್ನೆಮಲ್ಜಲ ಹ಴಺ಭ಺ನ ದುಫಮಲ್ತೆ ಸೂಚಯಂಔದ ಫಳಕೆಮನುಿ ಔಡ಺್ಮಗೊಳಸುತುದೆ. 

ಮೆೋಲೆ ನ್ನೋಡ್ಲ಺ದ ಸೆೋಳಕೆಖಳಲ್ಜಲ ಮ಺ವುದು ಸರಿಮ಺ಗಿದೆ?

(A) 1, 2 ಭತುು 4 ಭ಺ತರ (B) 1, 3 ಭತುು 4 ಭ಺ತರ

(C) 2 ಭತುು 3 ಭ಺ತರ (D) 1 ಭತುು 4 ಭ಺ತರ 
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19. Consider the following statements regarding the Kyoto Protocol: 

1. The Kyoto Protocol is an international treaty that commits its parties to reduce 

greenhouse gas emissions. 

2. It was adopted in 1997 and entered into force in 2005. 

3. The United States ratified the Kyoto Protocol and played a leading role in its 

implementation. 

Which of the above statements is/are Correct? 

(A) 1 and 2 only (B) 2 and 3 only  

(C) 1 and 3 only (D) All of the above 

20. Properties of cardiac muscle cells given below: 

1. Cardiac muscle cells are unbranched and contain single nucleus 

2. It is striated and involuntary 

3. It is supplied with autonomic nerve fibres 

4. Intercalated disc is a thin and single membranous structure 

Which of the above statements is/are NOT Correct? 

(A) 1, 3 and 4 (B) 2 and 4 only 

(C)  1 and 4 only (D) 1, 2, and 3 

21. Consider the following table with vitamins and their deficiency diseases 

 Vitamins  Deficiency diseases 

(i) Thiamine (1) Rickets 

(ii) Calciferol (2) Scurvy 

(iii) Retinol (3) Beriberi 

(iv) Vitamin C  (4) Pellagra 

(v) Niacinamide (5) Nyctalopia  

Which of the following combinations given below is Correct? 

(A) (i)-(3), (ii)-(1), (iii)-(5), (iv)-(2), (v)-(4)   

(B) (i)-(5), (ii)-(2), (iii)-(3), (iv)-(1), (v)-(4)  

(C) (i)-(4), (ii)-(2), (iii)-(1), (iv)-(5), (v)-(3)   

(D) (i)-(3), (ii)-(5), (iii)-(4), (iv)-(2), (v)-(1) 
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19. ಕೊಯೋರ್ೊೋ ಪರೋರ್ೊೋಕ಺ಲ್ ಸಂಫಂಧಿಸಿದ ಇ ಕೆಳಗಿನ ಸೆೋಳಕೆಖಳನುಿ ಩ರಿಖಣಿಸಿ :
1.  ಕೊಯೋರ್ೊೋ ಪರೋರ್ೊೋಕ಺ಲ್ ಹಸಿಯುಭನೆ ಄ನ್ನಲ್ ಸೊಯಸೂಸುವಿಕೆಮನುಿ ಔಡಿಮೆ ಭ಺ಡ್ಲ್ು ತನಿ ಩ಕ್ಷಖಳಗೆ 

ಫದಧ಴಺ಗಿಯುವ ಄ಂತಯಯ಺ಷ್ಟ್ರೋಮ ಑಩ಪಂದ಴಺ಗಿದೆ. 

2.  ಆದನುಿ 1997 ಯಲ್ಜಲ ಄ಂಗಿೋಔರಿಸಲ಺ಯಿತು ಭತುು 2005 ಯಲ್ಜಲ ಜ಺ರಿಗೆ ಫಂದಿತು. 

3.  ಮುನೆೈರ್ೆಡ್ ಷೆಿೋರ್ಟಾ ಕೊಯೋರ್ೊೋ ಪರೋರ್ೊೋಕ಺ಲ್ ಄ನುಿ ಄ಂಗಿೋಔರಿಸಿತು ಭತುು ಄ದಯ ಄ನುಶ಺ಾನದಲ್ಜಲ ಩ರಭುಕ 
಩಺ತರ ವಹಿಸಿತು. 

ಮೆೋಲ್ಜನ ಮ಺ವ ಸೆೋಳಕೆಖಳು ಸರಿಮ಺ಗಿ಴ೆ?
(A)  1 ಭತುು 2 ಭ಺ತರ (B) 2 ಭತುು 3 ಭ಺ತರ
(C) 1 ಭತುು 3 ಭ಺ತರ (D) ಮೆೋಲ್ಜನ ಎಲ್ಲವೂ 

20. ಕೆಳಗೆ ನ್ನೋಡ್ಲ಺ದ ಹೃದಮ ಷ಺ಿಮು ಕೊೋಶ್ಖಳ ಖುಣಲ್ಕ್ಷಣಖಳು :

1.  ಹೃದಮ ಷ಺ಿಮು ಕೊೋಶ್ಖಳು ಔವಲೊಡೆಮುವುದಿಲ್ಲ ಭತುು ಑ಂದೆೋ ನೂಯಕ್ಸಲಮಸ್ ಄ನುಿ ಸೊಂದಿಯುತು಴ೆ. 

2.  ಆದು ಩ರ್ೆಿ ಭತುು ಄ನೆೈಚಿಿಔ಴಺ಗಿಯುತುದೆ. 

3.  ಆದು ಸಾನ್ನಮಂತ್ರರತ ನಯ ನ಺ಯುಖಳಂದ ಔೂಡಿದೆ. 

4.  ಆಂಟ್ರ್ ಔಲೆೋರ್ೆಡ್ ಡಿಸ್ಕ ತೆಳು಴಺ದ ಭತುು ಏಔ ಪಯೆಮ ಯಚನೆಮ಺ಗಿದೆ. 

ಮೆೋಲ್ಜನ ಮ಺ವ ಸೆೋಳಕೆಖಳು ಸರಿಮ಺ಗಿಲ್ಲ?
(A) 1, 3 ಭತುು 4 (B) 2 ಭತುು 4 ಭ಺ತರ
(C) 1 ಭತುು 4 ಭ಺ತರ (D) 1, 2 ಭತುು 3 

21. ಜಿೋವಸತಾಖಳು ಭತುು ಄ವುಖಳ ಕೊಯತೆಮ ಕ಺ಯಿಲೆಖಳೄೆಂದಿಗೆ ಕೆಳಗಿನ ಕೊೋಷ್ಕಿಔವನುಿ ಩ರಿಖಣಿಸಿ :

 ಜಿೋವಸತಾಖಳು   ಕೊಯತೆಮ ಯೊೋಖಖಳು 

(i)  ಥಮ಺ರ್ಮನ್  (1)  ರಿಕೆರ್ಟ ಖಳು 

(ii)  ಕ಺ಯಲ್ಜಾಪೆಯ಺ಲ್  (2)  ಸಕವಿಮ 

(iii)  ಯೆಟ್ಟನ಺ಲ್ (3)  ಫೆರಿಫೆರಿ 

(iv)  ವಿಟ್ರ್ಮನ್ ಸಿ  (4)  ಩ೆಲ಺ಲಗ಺ರ 

(v)  ನ್ನಮ಺ಸಿನಮೆೈಡ್  (5)  ನ್ನಔಿಲೊೋಪಿಮ಺ 

ಕೆಳಗೆ ನ್ನೋಡ್ಲ಺ದ ಕೆಳಗಿನ ಸಂಯೋಜ್ನೆಖಳಲ್ಜಲ ಮ಺ವುದು ಸರಿಮ಺ಗಿದೆ?
(A) (i)-(3), (ii)-(1), (iii)-(5), (iv)-(2), (v)-(4)  

(B) (i)-(5), (ii)-(2), (iii)-(3), (iv)-(1), (v)-(4)  

(C) (i)-(4), (ii)-(2), (iii)-(1), (iv)-(5), (v)-(3)    

(D) (i)-(3), (ii)-(5), (iii)-(4), (iv)-(2), (v)-(1) 
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22. Consider the following statements regarding amino acids 

I. Leucine, Isoleucine and Valine are non-essential amino acids 

II. Glycine is the smallest amino acid  

III. Cystine and Methionine are sulphur containing amino acids 

Which of the above statements is/are Correct? 

(A) I only (B) II and III only 

(C) I and III only (D) All of the above 

23. Consider the following statements about diabetes mellitus: 

1. Diabetes mellitus is a metabolic disorder characterized by high blood sugar levels 

over a prolonged period. 

2. Type 1 diabetes is caused by the autoimmune destruction of insulin-producing cells 

in the pancreas. 

3. Type 2 diabetes is primarily caused by a viral infection in the liver. 

Which of the above statements is/are Correct? 

(A) 1 and 2 only (B) 2 and 3 only 

(C) 1 and 3 only (D) 1, 2, and 3 

24. Kala-azar disease caused by 

(A)  Salmonella typhimurium (B) Varicella zoster 

(C) Flavivirus (D) Leishmania donovani 

25. Which of the following statement/s is/are True? 

I. Nayanamritham 2.0 is an AI powered eye screening initiative of Kerala 

government.  

II. This is the first government AI assisted screening programme to identify diseases 

like glaucoma, diabetic retinopathy and age-related macular degeneration. 

III. Nayanamritham 2.0 enhancing convenience, efficiency and cost-effectiveness by 

incorporating Remidio‘s AI technology into the healthcare system. 

(A) I and II only (B) I only 

(C) I and III only (D) All of the above 
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22. ಄ಮೆೈನೊೋ ಅಭಲಖಳ ಔುರಿತು ಇ ಕೆಳಗಿನ ಸೆೋಳಕೆಖಳನುಿ ಩ರಿಖಣಿಸಿ :
I.  ಲ್ೂಯಸಿನ್, ಐಷೊಲ್ೂಯಸಿನ್ ಭತುು ಴಺ಯಲ್ಜನ್ ಄ತಯಖತಯವಲ್ಲದ ಄ಮೆೈನೊೋ ಅಭಲಖಳು. 
II.  ಗೆಲೈಸಿನ್ ಄ತಯಂತ ಚಿಔಕ ಄ಮೆೈನೊೋ ಅಭಲ಴಺ಗಿದೆ. 
III.  ಸಿಸಿಿೋನ್ ಭತುು ಮೆರ್ಥಯೋನ್ನನ್ ಸಲ್ಫರ್ ಸೊಂದಿಯುವ ಄ಮೆೈನೊೋ ಅಭಲಖಳ಺ಗಿ಴ೆ. 
ಮೆೋಲ್ಜನ ಮ಺ವ ಸೆೋಳಕೆಖಳು ಸರಿಮ಺ಗಿದೆ?

(A) I ಭ಺ತರ (B) II ಭತುು III ಭ಺ತರ

(C) I ಭತುು III ಭ಺ತರ (D) ಮೆೋಲ್ಜನ ಎಲ್ಲವೂ 

23. ಭಧುಮೆೋಹ ಮೆಲ್ಜಲಟ್ಸ್ ಫಗೆೆ ಇ ಕೆಳಗಿನ ಸೆೋಳಕೆಖಳನುಿ ಩ರಿಖಣಿಸಿ :
1.  ಭಧುಮೆೋಹ ಮೆಲ್ಜಲಟ್ಸ್ ದಿೋಗಮಕ಺ಲ್ದವಯೆಗೆ ಄ಧಿಔ ಯಔುದ ಸಔಕಯೆ ಭಟ್ಿಖಳಂದ ನ್ನಯೂಪಿಸಲ್ಪಟ್ಿ ಚಮ಺಩ಚಮ 

಄ಸಾಸಿತೆಮ಺ಗಿದೆ. 
2.  ರ್ೆೈಪ್ 1 ಭಧುಮೆೋಹವು ಮೆೋದೊೋಜಿಿೋಯಔ ಖರಂರ್ಥಮಲ್ಜಲ ಆನುಾಲ್ಜನ್ ಈತ಺ಪದಿಸುವ ಕೊೋಶ್ಖಳ ಸಾಮಂ ನ್ನಯೊೋಧಔ 

ನ಺ಶ್ದಿಂದ ಈಂರ್಺ಖುತುದೆ. 
3.  ರ್ೆೈಪ್ 2 ಭಧುಮೆೋಹವು ಩಺ರಥರ್ಮಔ಴಺ಗಿ ಮಔೃತ್ರುನಲ್ಜಲ ಴ೆೈಯಲ್ ಷೊೋಂಕ್ಸನ್ನಂದ ಈಂರ್಺ಖುತುದೆ. 

ಮೆೋಲ್ಜನ ಮ಺ವ ಸೆೋಳಕೆಖಳು ಸರಿಮ಺ಗಿದೆ?

(A) 1 ಭತುು 2 ಭ಺ತರ (B) 2 ಭತುು 3 ಭ಺ತರ

(C) 1 ಭತುು 3 ಭ಺ತರ (D) 1, 2 ಭತುು 3 

24. ಕ಺ಲ಺-಄ಜ್ರ್ ಕ಺ಯಿಲೆಯಿಂದ ಈಂರ್಺ಖುವುದು 

(A) ಷ಺ಲೊಮನೆಲ಺ಲ ರ್ೆೈಫಿಭುರಿಮಮ್ಸ (B) ವರಿಷೆಲ಺ಲ ಜೊೋಸಿರ್

(C) ಪೆಲೋವಿ಴ೆೈಯಸ್ (D) ಲ್ಜೋವೆೇನ್ನಮ಺ ಡೊನೊ಴಺ನ್ನ 

25. ಇ ಕೆಳಗಿನ ಸೆೋಳಕೆಖಳಲ್ಜಲ ಮ಺ವುದು ಸರಿ?
I.  ನಮನ಺ಭೃತಂ 2.0 ಕೆೋಯಳ ಸಕ಺ಮಯದ AI ಚ಺ಲ್ಜತ ಔಣಿಣನ ತ಩಺ಸಣೆ ಈ಩ಔರಭ಴಺ಗಿದೆ. 
II.  ಖುಲಕೊೋಭ಺, ಡ್ಮ಺ಬಿಟ್ಟಕ ಯೆಟ್ಟನೊೋ಩ತ್ರ ಭತುು ವಮಸಿಾಗೆ ಸಂಫಂಧಿಸಿದ ಭ಺ಯಔುಯಲ್ರ್ ಡಿಜೆನಯೆೋಶ್ನ್ ನಂತಹ 

ಯೊೋಖಖಳನುಿ ಖುಯುತ್ರಸಲ್ು ಆದು ಮದಲ್ ಸಕ಺ಮರಿ AI ನೆಯವಿನ ಸಿಕರೋನ್ನಂಗ್ ಕ಺ಮಮಔರಭ಴಺ಗಿದೆ. 
III.  ನಮನ಺ಭೃತಂ 2.0 ಅಯೊೋಖಯ ವಯವಷೆಿಮಲ್ಜಲ ಯೆರ್ಮಡಿಯದ AI ತಂತರಜ್ಞ಺ನವನುಿ ಷೆೋರಿಸುವ ಭೂಲ್ಔ 

಄ನುಔೂಲ್ತೆ, ದಕ್ಷತೆ ಭತುು ಴ೆಚು-಩ರಿಣ಺ಭಕ಺ರಿತಾವನುಿ ಸೆಚಿುಸುತುದೆ.

(A) I ಭತುು II ಭ಺ತರ (B) I ಭ಺ತರ

(C) I ಭತುು III ಭ಺ತರ (D) ಮೆೋಲ್ಜನ ಎಲ್ಲವೂ 
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26. What is the largest number not in the form yx 85  , where x and y are non negative 

integers? 

(A)  14  

(B) 37 

(C) 27  

(D) No such number exist 

27. A can finish a work in 10 days. B can finish the same work in 15 days. B starts the work 

for 5 days and then A completes the work. How many days did A work? 

(A)  4 (B) 5 

(C) 6 (D) 7 

28. A train 150 m long is running at a speed of 72 km/h. How long will it take to cross a man 

running at 6 km/h in the same direction? 

(A)  8.2 sec (B) 9 sec 

(C) 8.7 sec (D) 7.7 sec 

29. Two towns A and B are 120 km apart. A car starts from A towards B at 55 km/h. At the 

same time another car starts from B towards A at 45 km/h. When will they meet? 

(A) 70 min (B) 72 min 

(C)  83 min (D) 85 min 

30. If the sum of first three terms of a geometric progression (GP) is 21 and their product is 

216. Then what is the common ratio? 

(A)  3 (B) 5 

(C) 4 (D) 2 
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26. x ಭತುು y ಋಣೆೋತಯ ಩ೂಣ಺ಮಂಔಖಳ಺ಗಿಯುವ yx 85   ಯೂ಩ದಲ್ಜಲಲ್ಲದ ದೊಡ್್ ಸಂಖೆಯ ಮ಺ವುದು?

(A)  14 (B) 37 

(C) 27 (D) ಄ಂತಹ ಮ಺ವುದೆೋ ಸಂಖೆಯ ಄ಸಿುತಾದಲ್ಜಲಲ್ಲ 

27. A ಮು ಑ಂದು ಕೆಲ್ಸವನುಿ 10 ದಿನಖಳಲ್ಜಲ ಭುಗಿಸಫಹುದು. B ಮು ಄ದೆೋ ಕೆಲ್ಸವನುಿ 15 ದಿನಖಳಲ್ಜಲ ಭುಗಿಸಫಹುದು.  

B ಮು, 5 ದಿನಖಳವಯೆಗೆ ಕೆಲ್ಸವನುಿ ಩಺ರಯಂಭಿಸುತ಺ುನೆ ಭತುು ನಂತಯ A ಮು ಕೆಲ್ಸವನುಿ ಩ೂಣಮಗೊಳಸುತ಺ುನೆ.  

A ಮು ಎಷ್ಕುಿ ದಿನ ಕೆಲ್ಸವನುಿ ಭ಺ಡಿದ಺ಾನೆ?

(A) 4 (B) 5 

(C) 6 (D) 7 

28. 150 ರ್ಮೋ. ಈದಾದ ಯೆೈಲ್ು ಖಂರ್ೆಗೆ 72 ಕ್ಸ.ರ್ಮೋ. ಴ೆೋಖದಲ್ಜಲ ಒಡ್ುತ್ರುದೆ. ಑ಂದೆೋ ದಿಕ್ಸಕನಲ್ಜಲ ಖಂರ್ೆಗೆ 6 ಕ್ಸ.ರ್ಮೋ. ಴ೆೋಖದಲ್ಜಲ 

ಒಡ್ುವ ವಯಕ್ಸುಮನುಿ ದ಺ಟ್ಲ್ು ಎಷ್ಕುಿ ಸಭಮ ತೆಗೆದುಕೊಳುುತುದೆ?

(A)  8.2 ಷೆಕೆಂಡ್ುಖಳು (B) 9 ಷೆಕೆಂಡ್ುಖಳು

(C) 8.7 ಷೆಕೆಂಡ್ುಖಳು (D) 7.7 ಷೆಕೆಂಡ್ುಖಳು 

29. A ಭತುು B ಎಂಫ ಎಯಡ್ು ಩ಟ್ಿಣಖಳು 120 ಕ್ಸ.ರ್ಮೋ. ಄ಂತಯದಲ್ಜಲ಴ೆ. ಑ಂದು ಕ಺ಯು A ಯಿಂದ B ಔಡೆಗೆ ಖಂರ್ೆಗೆ  

55 ಕ್ಸ.ರ್ಮೋ. ಴ೆೋಖದಲ್ಜಲ ಚಲ್ಜಸುತುದೆ. ಄ದೆೋ ಸಭಮದಲ್ಜಲ ಭತೊುಂದು ಕ಺ಯು B ಯಿಂದ A ಔಡೆಗೆ ಖಂರ್ೆಗೆ 45 ಕ್ಸ.ರ್ಮೋ 

಴ೆೋಖದಲ್ಜಲ ಚಲ್ಜಸುತುದೆ. ಄ವು ಮ಺಴಺ಖ ಬೆೋಟ್ಟಮ಺ಖುತು಴ೆ?

(A) 70 ನ್ನರ್ಮಷ್ಕ (B) 72 ನ್ನರ್ಮಷ್ಕ

(C) 83 ನ್ನರ್ಮಷ್ಕ (D) 85 ನ್ನರ್ಮಷ್ಕ 

30. ಜ಺ಯರ್ಮತ್ರೋಮ ಩ರಖತ್ರಮ (GP) ಮದಲ್ ಭೂಯು ಩ದಖಳ ಮತು 21 ಅಗಿದಾಯೆ ಭತುು ಄ವುಖಳ ಈತಪನಿ 216 ಅಗಿದಾಯೆ. 

ಷ಺ಭ಺ನಯ ಄ನು಩಺ತ ಎಷ್ಕುಿ?

(A) 3 (B) 5 

(C) 4 (D) 2 
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31. Find the odd one out: 

(A)  36 (B) 49 

(C) 64 (D) 81 

32. If LION is coded as PNKQ, what will be the code of TIGER? 

(A)  VNTGI (B) VKTGI 

(C) TVKIG (D) GKITN 

33. LION : Carnivore : : COW :    

(A)  Mammal (B) Omnivore 

(C) Herbivore (D) Reptile 

34. At 3.45 AM what is the angle (in degree measurement) between hour needle and minute 

needle in an ordinary clock? 

(A)  157.5 (B) 180 

(C) 156.5 (D) 167.5 

35. What is the remainder when 17103 is divided by 5? 

(A) 4 (B) 3 

(C)  2 (D) 1 

36. Whoever entices a child out of the keeping of _________ without the consent, is said to 

have caused kidnapping. 

(A) Father (B) Mother 

(C) Parents (D) Lawful Guardian 

37. Which of the following is not an element of offence of trafficking in person? 

(A)  Exploitation (B) Consent 

(C)  Abuse of power (D) Use of threats 
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31. ಸೊಂದಿಕೆಮ಺ಖದಿಯುವುದನುಿ ಔಂಡ್ುಹಿಡಿಯಿರಿ :

(A)  36 (B) 49 

(C) 64 (D) 81 

32. LION ಄ನುಿ PNKQ ಎಂದು ಕೊೋಡ್ ಭ಺ಡಿದಯೆ TIGER ನ ಕೊೋಡ್ ಏನು?

(A)  VNTGI (B) VKTGI 

(C) TVKIG (D) GKITN 

 

33. ಸಿಂಹ : ಭ಺ಂಷ಺ಸ಺ರಿ : : ಹಸು :

(A)  ಸಸುನ್ನ (B) ಸವಮಬಕ್ಷಔ

(C) ಸಷ಺ಯಸ಺ರಿ (D) ಸರಿೋಸೃ಩ 

34. ಫೆಳಗೆೆ 3.45 ಕೆಕ ಷ಺ಭ಺ನಯ ಖಡಿಮ಺ಯದಲ್ಜಲ ಖಂರ್ೆಮ ಸೂಜಿ ಭತುು ನ್ನರ್ಮಷ್ಕದ ಸೂಜಿಮ ನಡ್ುವಿನ ಕೊೋನ  

(ಡಿಗಿರ ಄ಳತೆಮಲ್ಜಲ) ಎಷ್ಕುಿ?

(A)  157.5 (B) 180 

(C) 156.5 (D) 167.5 

35. 17103 ಄ನುಿ 5 ರಿಂದ ಬ಺ಗಿಸಿದ಺ಖ ವೆೋಷ್ಕ ಎಷ್ಕುಿ?

(A) 4 (B) 3 

(C)  2 (D) 1 

36. ಑ಪಿಪಗೆಯಿಲ್ಲದೆ ಭಖುವನುಿ __________ ನ್ನಂದ ದೂಯವಿಡ್ುವವಯನುಿ ಄಩ಹಯಣಕೆಕ ಕ಺ಯಣಯೆಂದು ಸೆೋಳಲ಺ಖುತುದೆ.

(A) ತಂದೆ (B) ತ಺ಯಿ

(C) ಪೋಷ್ಕಔಯು (D) ಕ಺ನೂನುಫದಧ ಯಕ್ಷಔ 

37. ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು ಴ೆೈಮಕ್ಸುಔ ಔಳುಷ಺ಖಣೆ ಄಩ಯ಺ಧದ ಄ಂಶ್ವಲ್ಲ?

(A) ವೆೃೋಷ್ಕಣೆ (B) ಑ಪಿಪಗೆ

(C) ಄ಧಿಕ಺ಯ ದುಯು಩ಯೋಖ (D) ಫೆದರಿಕೆಖಳ ಫಳಕೆ 
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38. Defence of insanity can be granted when it is proved that a person at the time of doing 

an act by reason of unsoundness of mind was incapable of knowing    

(A) nature of the act   

(B) that what he is doing is wrong 

(C) that what he is doing is contrary to law   

(D) either (A), (B) or (C)  

39. Which of the following will not fall under the offence of stalking? 

(A) Following a woman   

(B) Monitoring the use of internet by a woman  

(C) Capturing image of a woman engaging in a private act   

(D) Contacting a woman to foster personal interaction 

40. Which of the following is/are correct about private defence? 

(i) Private defence is available with respect to harm to body only 

(ii) Private defence is available with respect to harm to body and property 

(iii) Private defence is available only when there is no time to have recourse to the 

protection of public authorities 

(iv) Private defence is available against persons of unsound mind 

(A) Only (i) is correct   

(B) Only (ii) is correct  

(C) Both (i) and (iii) are correct   

(D) Options (ii), (iii) and (iv) are correct 

41.  Which of the following is not correct in respect of confessions recorded by the magistrate 

under the provisions of BNSS? 

(A) Before recording the confession, Magistrate shall inform the person that he is 

not bound to make a confession   

(B) Magistrate shall warn the person that confession recorded may be used as 

evidence against him  

(C) The person shall be sent to police custody after the confession is recorded   

(D) The statement shall be signed by the person making the confession  
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38. ಑ಫಬ ವಯಕ್ಸುಮು ಭ಺ನಸಿಔ ಄ಸಾಸಿತೆಯಿಂದ಺ಗಿ ಑ಂದು ಔೃತಯವನುಿ ಭ಺ಡ್ು಴಺ಖ ಏನನುಿ ತ್ರಳಮಲ್ು 
಄ಸಭಥಮನ಺ಗಿದಾನೆಂದು ಷ಺ಬಿೋತ಺ದಯೆ ಹುಚುುತನದ ಯಕ್ಷಣೆಮನುಿ ನ್ನೋಡ್ಫಹುದು?

(A) ಔೃತಯದ ಸಾಯೂ಩ 
(B) ತ಺ನು ಭ಺ಡ್ುತ್ರುಯುವುದು ತ಩ುಪ ಎಂದು
(C) ತ಺ನು ಭ಺ಡ್ುತ್ರುಯುವುದು ಕ಺ನೂನ್ನಗೆ ವಿಯುದಧ಴಺ಗಿದೆ ಎಂದು  
(D) (A), (B) ಄ಥ಴಺ (C) 

39. ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು ಹಿಂಫ಺ಲ್ಜಸುವ ಄಩ಯ಺ಧದ ಄ಡಿಮಲ್ಜಲ ಫಯುವುದಿಲ್ಲ
(A) ಭಹಿಳೆಮನುಿ ಄ನುಸರಿಸುವುದು 
(B) ಭಹಿಳೆಯಿಂದ ಆಂಟ್ನೆಮರ್ಟ ಫಳಕೆಮನುಿ ಮೆೋಲ್ಜಾಚ಺ಯಣೆ ಭ಺ಡ್ುವುದು
(C) ಖ಺ಸಗಿ ಔೃತಯದಲ್ಜಲ ತೊಡ್ಗಿಯುವ ಭಹಿಳೆಮ ಚಿತರವನುಿ ಷೆಯೆಹಿಡಿಮುವುದು 
(D) ಴ೆೈಮಕ್ಸುಔ ಸಂವಹನವನುಿ ಫೆಳೆಸಲ್ು ಭಹಿಳೆಮನುಿ ಸಂ಩ಕ್ಸಮಸುವುದು 

40. ಖ಺ಸಗಿ ಯಕ್ಷಣೆಮ ಫಗೆೆ ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು ಸರಿಮ಺ಗಿದೆ?
(i) ದೆೋಹಕೆಕ ಸ಺ನ್ನಮ಺ಖುವ ಫಗೆೆ ಭ಺ತರ ಖ಺ಸಗಿ ಯಕ್ಷಣೆ ಲ್ಬಯವಿದೆ
(ii) ದೆೋಹ ಭತುು ಅಸಿುಗೆ ಸ಺ನ್ನಮ಺ಖುವ ಫಗೆೆ ಭ಺ತರ ಖ಺ಸಗಿ ಯಕ್ಷಣೆ ಲ್ಬಯವಿದೆ
(iii) ಷ಺ವಮಜ್ನ್ನಔ ಄ಧಿಕ಺ರಿಖಳ ಯಕ್ಷಣೆಮನುಿ ಅಶ್ರಯಿಸಲ್ು ಸಭಮವಿಲ್ಲದಿದ಺ಾಖ ಭ಺ತರ ಖ಺ಸಗಿ ಯಕ್ಷಣೆ ಲ್ಬಯವಿದೆ
(iv) ಄ಸಾಸಿ ಭನಸಿಾನ ವಯಕ್ಸುಖಳ ವಿಯುದಧ ಖ಺ಸಗಿ ಯಕ್ಷಣೆ ಲ್ಬಯವಿದೆ

(A)  (i) ಭ಺ತರ ಸರಿಮ಺ಗಿದೆ.
(B) (ii) ಭ಺ತರ ಸರಿಮ಺ಗಿದೆ
(C) (i) ಭತುು (iii) ಎಯಡ್ೂ ಸರಿಮ಺ಗಿ಴ೆ  

(D) ಅಯ್ಕಕಖಳು (ii), (iii) ಭತುು (iv) ಸರಿಮ಺ಗಿ಴ೆ 

41. BNSS ನ್ನಫಂಧನೆಖಳ ಄ಡಿಮಲ್ಜಲ ಭ಺ಯಜಿಷೆರೋರ್ಟ ದ಺ಕಲ್ಜಸಿದ ತಪಪಪಿಪಗೆಖಳಗೆ ಸಂಫಂಧಿಸಿದಂತೆ ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ 
ಮ಺ವುದು ಸರಿಮ಺ಗಿಲ್ಲ

(A)  ತಪಪಪಿಪಗೆಮನುಿ ದ಺ಕಲ್ಜಸುವ ಮದಲ್ು, ಭ಺ಯಜಿಷೆರೋರ್ಟ ವಯಕ್ಸುಗೆ ತ಺ನು ತಪಪಪಿಪಗೆಮನುಿ ಭ಺ಡ್ಲ್ು 
ಫದಧನಲ್ಲ ಎಂದು ತ್ರಳಸಫೆೋಔು

(B) ದ಺ಕಲ್ಜಸಿದ ತಪಪಪಿಪಗೆಮನುಿ ಄ವನ ವಿಯುದಧ ಷ಺ಕ್ಷಿಮ಺ಗಿ ಫಳಸಫಹುದು ಎಂದು ಭ಺ಯಜಿಷೆರೋರ್ಟ ವಯಕ್ಸುಗೆ 
ಎಚುರಿಕೆ ನ್ನೋಡ್ಫೆೋಔು

(C) ತಪಪಪಿಪಗೆಮನುಿ ದ಺ಕಲ್ಜಸಿದ ನಂತಯ ವಯಕ್ಸುಮನುಿ ಪೋಲ್ಜೋಸ್ ಔಸಿಡಿಗೆ ಔಳುಹಿಸಫೆೋಔು  

(D) ತಪಪಪಿಪಗೆಮನುಿ ಭ಺ಡ್ುವ ವಯಕ್ಸು ಸೆೋಳಕೆಗೆ ಸಹಿ ಸ಺ಔಫೆೋಔು 
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42. Warrant case means 

(A) Offence punishable with death   

(B) Offence punishable with life imprisonment  

(C) Offence punishable with imprisonment exceeding seven years 

(D) Offence punishable with death, life imprisonment for life or with 

imprisonment for a term exceeding two years 

43.  Which of the following is not a valid requirement for an FIR? 

(A) It must disclose the commission of a cognizable offence 

(B) It must be given orally or in writing or by electronic means 

(C) It must be given by the victim of crime  

(D) It must be signed 

44. Any statement made orally or in writing to a magistrate with a view to his action under 

Bharatiya Nagarik Suraksha Sanhita, alleging that some person known or unknown has 

committed an offence is known as  

(A) FIR (B) Complaint 

(C) Police report (D) Summons 

45. A person having knowledge of the commission of which of the following offence has a 

duty to give information to the nearest magistrate or police officer. 

(A) Bribery  

(B) Grievous Hurt 

(C) Wrongful Restraint  

(D) Counterfeiting coins 
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42. ಴಺ಯಂರ್ಟ ಩ರಔಯಣ ಎಂದಯೆ :

(A) ಭಯಣದಂಡ್ನೆ ಶ್ಚಕ್ಷೆ ವಿಧಿಸಫಹುದ಺ದ ಄಩ಯ಺ಧ 

(B) ಜಿೋ಴಺ವಧಿ ಶ್ಚಕ್ಷೆ ವಿಧಿಸಫಹುದ಺ದ ಄಩ಯ಺ಧ

(C) ಏಳು ವಷ್ಕಮಖಳನುಿ ರ್ಮೋರಿದ ಜೆೈಲ್ು ಶ್ಚಕ್ಷೆ ವಿಧಿಸಫಹುದ಺ದ ಄಩ಯ಺ಧ  

(D) ಭಯಣದಂಡ್ನೆ ಶ್ಚಕ್ಷೆ ವಿಧಿಸಫಹುದ಺ದ ಄಩ಯ಺ಧ, ಜಿೋ಴಺ವಧಿ ಶ್ಚಕ್ಷೆ ಄ಥ಴಺ ಎಯಡ್ು ವಷ್ಕಮಖಳನುಿ ರ್ಮೋರಿದ 

ಜೆೈಲ್ು ಶ್ಚಕ್ಷೆ ವಿಧಿಸಫಹುದ಺ದ ಄಩ಯ಺ಧ 

43. ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು FIR ಗೆ ಭ಺ನಯ಴಺ದ ಄ವಶ್ಯಔತೆಮಲ್ಲ

(A)  ಆದು ಖುಯುತ್ರಸಫಹುದ಺ದ ಄಩ಯ಺ಧದ ಅಯೋಖವನುಿ ಫಹಿಯಂಖ಩ಡಿಸಫೆೋಔು

(B) ಆದನುಿ ಭೌಖಿಔ಴಺ಗಿ ಄ಥ಴಺ ಲ್ಜಖಿತ಴಺ಗಿ ಄ಥ಴಺ ಎಲೆಕ಺ರನ್ನಕ ವಿಧ಺ನದ ಭೂಲ್ಔ ನ್ನೋಡ್ಫೆೋಔು

(C) ಆದನುಿ ಄಩ಯ಺ಧದ ಫಲ್ಜ಩ಶ್ು಴ೆೋ ನ್ನೋಡ್ಫೆೋಔು 

(D) ಆದಕೆಕ ಸಹಿ ಸ಺ಔಫೆೋಔು 

44. ಬ಺ಯತ್ರೋಮ ನ಺ಖರಿಔ ಸುಯಕ್ಷ಺ ಸಂಹಿತ಺ ಄ಡಿಮಲ್ಜಲ ಭ಺ಯಜಿಷೆರೋರ್ಟ ಗೆ ಭೌಖಿಔ಴಺ಗಿ ಄ಥ಴಺ ಲ್ಜಖಿತ಴಺ಗಿ ನ್ನೋಡಿದ 

ಮ಺ವುದೆೋ ಸೆೋಳಕೆಮನುಿ, ತ್ರಳದಿಯುವ ಄ಥ಴಺ ತ್ರಳದಿಲ್ಲದ ಮ಺ಯ಺ದಯೂ ವಯಕ್ಸು ಄಩ಯ಺ಧ ಭ಺ಡಿದ಺ಾಯೆ ಎಂದು 

ಅಯೊೋ಩ಸುವುದನುಿ ಹಿೋಗೆ ಔಯೆಮಲ಺ಖುತುದೆ.

(A) FIR (B) ದೂಯು

(C) ಪೋಲ್ಜೋಸ್ ವಯದಿ (D) ಸಭನ್ಾ 

45. ಇ ಕೆಳಗಿನ ಮ಺ವ ಄಩ಯ಺ಧದ ಅಯೋಖದ ಫಗೆೆ ತ್ರಳದಿಯುವ ವಯಕ್ಸುಮು ಹತ್ರುಯದ ಭ಺ಯಜಿಷೆರೋರ್ಟ ಄ಥ಴಺ ಪೋಲ್ಜೋಸ್ 

಄ಧಿಕ಺ರಿಗೆ ಭ಺ಹಿತ್ರಮನುಿ ನ್ನೋಡ್ುವ ಔತಮವಯವನುಿ ಸೊಂದಿಯುತ಺ುನೆ?

(A) ಲ್ಂಚ 

(B) ಘೂೋಯ ನೊೋವು

(C) ತ಩಺ಪದ ನ್ನಫಮಂಧ  

(D) ನಔಲ್ಜ ನ಺ಣಯಖಳು 
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46. Which of the following statements is correct as per the Bharatiya Sakshya Adhiniyam 

2023? 

(A) Evidence includes only oral statements made by witnesses in physical 

presence before the court 

(B) Evidence means all statements including electronic or digital records 

(C) Evidence includes oral statements permitted by the court and documents 

including electronic or digital records   

(D) Evidence includes all oral statements and documents including by electronic 

or digital records adduced by parties 

47. Which of the following statements is correct regarding admissibility of a co-accused‘s 

confession? 

(A) A confession by B that ―A and I murdered C‖ is admissible against A even if  

A and B are not being tried jointly   

(B) A confession by A that ―B and I murdered C‖ can be used against B only if  

A and B are jointly tried for the offence 

(C) Confession of one absconding accused can never be used in trial 

(D) The confession of a co-accused is considered primary evidence 

48. In a suit for declaration of legitimacy, A claims to be the legitimate son of B. The court 

considers that A was consistently treated as B‘s son by B‘s siblings and cousins. Which of 

the following best explains the admissibility of this evidence under the Bharatiya 

Sakshya Adhiniyam, 2023? 

(A) The treatment by B‘s relatives is irrelevant since only the father‘s declaration 

is admissible 

(B) The conduct of family members with special knowledge of the relationship is 

relevant to show the existence of such a relationship 

(C) The conduct is hearsay and inadmissible 

(D) Legitimacy cannot be proved without DNA evidence or documentary proof 
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46. ಬ಺ಯತ್ರೋಮ ಷ಺ಕ್ಷಯ ಄ಧಿನ್ನಮಭ 2023 ಯ ಩ರಕ಺ಯ ಇ ಕೆಳಗಿನ ಮ಺ವ ಸೆೋಳಕೆಖಳು ಸರಿಮ಺ಗಿ಴ೆ?

(A) ಷ಺ಕ್ಷಯವು ನ಺ಯಮ಺ಲ್ಮದ ಭುಂದೆ ಷ಺ಕ್ಷಿಖಳು ಬೌತ್ರಔ ಈ಩ಸಿಿತ್ರಮಲ್ಜಲ ಭ಺ಡಿದ ಭೌಖಿಔ ಸೆೋಳಕೆಖಳನುಿ 
ಭ಺ತರ ಑ಳಗೊಂಡಿದೆ

(B) ಷ಺ಕ್ಷಯವು ಎಲೆಕ಺ರನ್ನಕ ಄ಥ಴಺ ಡಿಜಿಟ್ಲ್ ದ಺ಕಲೆಖಳನುಿ ಑ಳಗೊಂಡ್ಂತೆ ಎಲ಺ಲ ಸೆೋಳಕೆಖಳನುಿ 
ಸೂಚಿಸುತುದೆ

(C) ಷ಺ಕ್ಷಯವು ನ಺ಯಮ಺ಲ್ಮವು ಄ನುಭತ್ರಸಿದ ಭೌಖಿಔ ಸೆೋಳಕೆಖಳು ಭತುು ಎಲೆಕ಺ರನ್ನಕ ಄ಥ಴಺ ಡಿಜಿಟ್ಲ್ 
ದ಺ಕಲೆಖಳನುಿ ಑ಳಗೊಂಡ್ಂತೆ ಎಲ಺ಲ ಸೆೋಳಕೆಖಳನುಿ ಑ಳಗೊಂಡಿದೆ  

(D) ಷ಺ಕ್ಷಯವು ಩ಕ್ಷಖಳು ಸಲ್ಜಲಸಿದ ಎಲೆಕ಺ರನ್ನಕ ಄ಥ಴಺ ಡಿಜಿಟ್ಲ್ ದ಺ಕಲೆಖಳನುಿ ಑ಳಗೊಂಡ್ಂತೆ ಎಲ಺ಲ 
ಭೌಖಿಔ ಸೆೋಳಕೆಖಳು ಭತುು ದ಺ಕಲೆಖಳನುಿ ಑ಳಗೊಂಡಿದೆ 

47. ಸಹ-ಅಯೊೋಪಿಮ ತಪಪಪಿಪಗೆಮ ಸಿಾೋಕ಺ಯ಺ಹಮತೆಮ ಫಗೆೆ ಇ ಕೆಳಗಿನ ಮ಺ವ ಸೆೋಳಕೆಖಳು ಸರಿಮ಺ಗಿ಴ೆ?

(A) "A ಭತುು ನ಺ನು C ಮನುಿ ಕೊಲೆ ಭ಺ಡಿದೆ" ಎಂದು B ನ್ನೋಡಿದ ತಪಪಪಿಪಗೆಮು A ಭತುು B ಄ವಯನುಿ 
ಜ್ಂಟ್ಟಮ಺ಗಿ ವಿಚ಺ಯಣೆಗೆ ಑ಳ಩ಡಿಸದಿದಾಯೂ ಸಹ A ವಿಯುದಧ ಸಿಾೋಕ಺ಯ಺ಹಮ಴಺ಗಿದೆ

(B) "B ಭತುು ನ಺ನು C ಮನುಿ ಕೊಲೆ ಭ಺ಡಿದೆ" ಎಂದು A ನ್ನೋಡಿದ ತಪಪಪಿಪಗೆಮು A ಭತುು B ಄ವಯನುಿ 
ಜ್ಂಟ್ಟಮ಺ಗಿ ವಿಚ಺ಯಣೆಗೆ ಑ಳ಩ಡಿಸಿದಯೆ ಭ಺ತರ B ವಿಯುದಧ ಫಳಸಫಹುದು

(C) ತಲೆಭಯೆಸಿಕೊಂಡಿಯುವ ಑ಫಬ ಅಯೊೋಪಿಮ ತಪಪಪಿಪಗೆಮನುಿ ವಿಚ಺ಯಣೆಮಲ್ಜಲ ಎಂದಿಖೂ ಫಳಸಲ಺ಖುವುದಿಲ್ಲ  

(D) ಸಹ-ಅಯೊೋಪಿಮ ತಪಪಪಿಪಗೆಮನುಿ ಩಺ರಥರ್ಮಔ ಷ಺ಕ್ಷಯ಴ೆಂದು ಩ರಿಖಣಿಸಲ಺ಖುತುದೆ 

48. ನ಺ಯಮಸಭಮತತೆಮ ಘೂೋಷ್ಕಣೆಗ಺ಗಿ ದ಺಴ೆಮಲ್ಜಲ, A ತ಺ನು B ಮ ಕ಺ನೂನುಫದಧ ಭಖನೆಂದು ಸೆೋಳಕೊಳುುತ಺ುನೆ. 
ನ಺ಯಮ಺ಲ್ಮವು A ಮನುಿ B ಮ ಸಸೊೋದಯಯು ಭತುು ಷೊೋದಯಸಂಫಂಧಿಖಳು B ಮ ಭಖನೆಂದು ನ್ನಯಂತಯ಴಺ಗಿ 
಩ರಿಖಣಿಸಿದ಺ಾಯೆ ಎಂದು ಩ರಿಖಣಿಸುತುದೆ. ಬ಺ಯತ್ರೋಮ ಷ಺ಕ್ಷಯ ಄ಧಿನ್ನಮಭ, 2023 ಯ ಄ಡಿಮಲ್ಜಲ ಇ ಩ುಯ಺಴ೆಮ 
ಸಿಾೋಕ಺ಯ಺ಹಮತೆಮನುಿ ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದು ಈತುಭ಴಺ಗಿ ವಿವರಿಸುತುದೆ?

(A) ತಂದೆಮ ಘೂೋಷ್ಕಣೆ ಭ಺ತರ ಸಿಾೋಕ಺ಯ಺ಹಮ಴಺ಗಿಯುವುದರಿಂದ B ಮ ಸಂಫಂಧಿಔರಿಂದ ನಡೆಸಿಕೊಳುುವಿಕೆಮು 
಄಩ರಸುುತ಴಺ಗಿದೆ

(B) ಸಂಫಂಧದ ವಿವೆೋಷ್ಕ ಜ್ಞ಺ನ ಸೊಂದಿಯುವ ಔುಟ್ುಂಫ ಸದಸಯಯ ನಡ್ವಳಕೆಮು ಄ಂತಹ ಸಂಫಂಧದ 
಄ಸಿುತಾವನುಿ ತೊೋರಿಸಲ್ು ಩ರಸುುತ಴಺ಗಿದೆ

(C) ನಡ್ವಳಕೆ ಭತುು ಕ್ಸವಿಭ಺ತು ಸಿಾೋಕ಺ಯ಺ಹಮವಲ್ಲ  

(D) DNA ಩ುಯ಺಴ೆ ಄ಥ಴಺ ಷ಺ಕ್ಷಯಚಿತರ ಩ುಯ಺಴ೆ ಆಲ್ಲದೆ ನ಺ಯಮಸಭಮತತೆಮನುಿ 
ಷ಺ಬಿೋತು಩ಡಿಸಲ಺ಖುವುದಿಲ್ಲ 
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49. In a boundary dispute, a party relies on a government-issued map published and sold in 

the market, showing the division between two villages. How will the court treat this map 

under Section 30 of the Bharatiya Sakshya Adhiniyam, 2023? 

(A)  The map is a relevant fact as it contains statements made in published charts 

generally offered for public sale 

(B) The map is irrelevant unless accompanied by witness testimony 

(C) The map is inadmissible unless certified by the Survey of India 

(D) The map is considered conclusive proof of the boundary 

50. An accused in police custody reveals the location of a murder weapon. The police recover 

the weapon from the place mentioned. What portion of the accused‘s statement is 

admissible in court under the Bharatiya Sakshya Adhiniyam, 2023? 

(A)  The entire statement, including motive and confession 

(B) Only the part of the statement that distinctly relates to the fact discovered 

(C)  The statement is inadmissible as it was made in custody 

(D) The statement is admissible only if it was recorded by the Magistrate 

51. Which section of the RTI Act lists categories of information exempt from disclosure? 

(A) Section 6 (B) Section 8 

(C) Section 11 (D) Section 2(f) 

52. Under Section 9 of the RTI Act, an information request can be rejected if: 

(A) It is related to a third privacy  

(B) It invades personal privacy 

(C) It infringes copyright  

(D) It relates to the Parliament 

53. What is the main focus of section 11 in the RTI Act, 2005? 

(A) Public authority obligations (B) Appeal process 

(C)  Third party information (D) Suo moto disclosure 
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49. ಖಡಿ ವಿ಴಺ದದಲ್ಜಲ, ಑ಂದು ಩ಕ್ಷವು ಸಕ಺ಮಯ ಸೊಯಡಿಸಿದ ನಕ್ಷೆಮನುಿ ಄ವಲ್ಂಬಿಸಿ ಭ಺ಯುಔರ್ೆಿಮಲ್ಜಲ ಩ರಔಟ್ಟಸಿ ಭ಺ಯ಺ಟ್ 
ಭ಺ಡ್ುತುದೆ, ಆದು ಎಯಡ್ು ಗ಺ರಭಖಳ ನಡ್ುವಿನ ವಿಬಜ್ನೆಮನುಿ ತೊೋರಿಸುತುದೆ. ಬ಺ಯತ್ರೋಮ ಷ಺ಕ್ಷಯ ಄ಧಿನ್ನಮಭ, 2023 
ಯ ಷೆಕ್ಷನ್ 30 ಯ ಄ಡಿಮಲ್ಜಲ ನ಺ಯಮ಺ಲ್ಮವು ಇ ನಕ್ಷೆಮನುಿ ಸೆೋಗೆ ಩ರಿಖಣಿಸುತುದೆ?

(A)  ಷ಺ವಮಜ್ನ್ನಔ ಭ಺ಯ಺ಟ್ಕೆಕ ನ್ನೋಡ್ಲ಺ಖುವ ಩ರಔಟ್ಟತ ಩ಟ್ಟಿಮಲ್ಜಲ ಭ಺ಡ್ಲ಺ದ ಸೆೋಳಕೆಖಳನುಿ 
಑ಳಗೊಂಡಿಯುವುದರಿಂದ ನಕ್ಷೆಮು ಩ರಸುುತ ಸಂಖತ್ರಮ಺ಗಿದೆ

(B) ಷ಺ಕ್ಷಿ ಷ಺ಕ್ಷಯದೊಂದಿಗೆ ಆಲ್ಲದಿದಾಯೆ ನಕ್ಷೆಮು ಄಩ರಸುುತ಴಺ಗಿದೆ
(C) ಸ಴ೆೋಮ ಅಫ್ ಆಂಡಿಮ಺ ಩ರಭ಺ಣಿೋಔರಿಸದ ಸೊಯತು ನಕ್ಷೆಮನುಿ ಸಿಾೋಕ಺ಯ಺ಹಮವಲ್ಲ  

(D) ನಕ್ಷೆಮನುಿ ಖಡಿಮ ನ್ನಣ಺ಮಮಔ ಩ುಯ಺಴ೆ ಎಂದು ಩ರಿಖಣಿಸಲ಺ಖುತುದೆ 

50. ಪೋಲ್ಜೋಸ್ ಔಸಿಡಿಮಲ್ಜಲಯುವ ಅಯೊೋಪಿಮು ಕೊಲೆ ಅಮುಧದ ಸಿಳವನುಿ ಫಹಿಯಂಖ಩ಡಿಸುತ಺ುನೆ. ಪಲ್ಜೋಸಯು ಈಲೆಲೋಖಿಸಿದ 
ಸಿಳದಿಂದ ಅಮುಧವನುಿ ವಶ್಩ಡಿಸಿಕೊಳುುತ಺ುಯೆ. ಬ಺ಯತ್ರೋಮ ಷ಺ಕ್ಷಯ ಄ಧಿನ್ನಮಭ, 2023 ಯ ಄ಡಿಮಲ್ಜಲ 
ನ಺ಯಮ಺ಲ್ಮದಲ್ಜಲ ಅಯೊೋಪಿಮ ಸೆೋಳಕೆಮ ಮ಺ವ ಬ಺ಖವು ಸಿಾೋಕ಺ಯ಺ಹಮ಴಺ಗಿದೆ?

(A) ಈದೆಾೋಶ್ ಭತುು ತಪಪಪಿಪಗೆ ಷೆೋರಿದಂತೆ ಸಂ಩ೂಣಮ ಸೆೋಳಕೆ
(B) ಩ತೆುಮ಺ದ ಸಂಖತ್ರಗೆ ಸಪಷ್ಕಿ಴಺ಗಿ ಸಂಫಂಧಿಸಿಯುವ ಸೆೋಳಕೆಮ ಬ಺ಖ ಭ಺ತರ
(C) ಔಸಿಡಿಮಲ್ಜಲ ನ್ನೋಡ್ಲ಺ದ ಸೆೋಳಕೆಮನುಿ ಄ಂಗಿೋಔರಿಸಲ಺ಖುವುದಿಲ್ಲ  

(D) ಭ಺ಯಜಿಷೆರೋರ್ಟ ಄ದನುಿ ದ಺ಕಲ್ಜಸಿದಾಯೆ ಭ಺ತರ ಸೆೋಳಕೆಮನುಿ ಄ಂಗಿೋಔರಿಸಫಹುದು 

51. ಭ಺ಹಿತ್ರ ಹಔುಕ ಕ಺ಯ್ಕಾ (RTI) ಮ ಮ಺ವ ಷೆಕ್ಷನ್ ಫಹಿಯಂಖ಩ಡಿಸುವಿಕೆಯಿಂದ ವಿನ಺ಯಿತ್ರ ಩ಡೆದ ಭ಺ಹಿತ್ರಮ 
ವಖಮಖಳನುಿ ಩ಟ್ಟಿ ಭ಺ಡ್ುತುದೆ?

(A) ಷೆಕ್ಷನ್ 6 (B) ಷೆಕ್ಷನ್ 8 

(C) ಷೆಕ್ಷನ್ 11 (D) ಷೆಕ್ಷನ್ 2(ಎಫ್) 

52. ಭ಺ಹಿತ್ರ ಹಔುಕ ಕ಺ಯ್ಕಾ (RTI) ಮ ಷೆಕ್ಷನ್ 9 ಯ ಄ಡಿಮಲ್ಜಲ, ಭ಺ಹಿತ್ರ ವಿನಂತ್ರಮನುಿ ಇ ಕೆಳಗಿನ ಸಂದಬಮಖಳಲ್ಜಲ 
ತ್ರಯಸಕರಿಸಫಹುದು :

(A) ಆದು ಭೂಯನೆೋ ಗೌ಩ಯತೆಗೆ ಸಂಫಂಧಿಸಿದೆ
(B) ಆದು ಴ೆೈಮಕ್ಸುಔ ಗೌ಩ಯತೆಮನುಿ ಅಔರರ್ಮಸುತುದೆ
(C) ಆದು ಹಔುಕಷ಺ಾಭಯವನುಿ ಈಲ್ಲಂಘಿಸುತುದೆ  

(D) ಆದು ಸಂಸತ್ರುಗೆ ಸಂಫಂಧಿಸಿದೆ 

53. ಭ಺ಹಿತ್ರ ಹಔುಕ ಕ಺ಯ್ಕಾ, (RTI) 2005 ಯಲ್ಜಲ ಷೆಕ್ಷನ್ 11 ಯ ಭುಕಯ ಖಭನ಴ೆೋನು?
(A) ಷ಺ವಮಜ್ನ್ನಔ ಩಺ರಧಿಕ಺ಯದ ಔಟ್ುಿ಩಺ಡ್ುಖಳು
(B) ಮೆೋಲ್ಮನವಿ ಩ರಕ್ಸರಯ್ಕ
(C) ಭೂಯನೆೋ ವಯಕ್ಸುಮ ಭ಺ಹಿತ್ರ  

(D) ಸಾಮಂ ಮೋರ್ೊೋ (Suo moto) ಫಹಿಯಂಖ಩ಡಿಸುವಿಕೆ 
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54. Which article deals with the Speaker‘s right to vote in the Lok Sabha? 

(A) Article 86 (B) Article 97 

(C)  Article 101 (D) Article 100 

55. Under Article 101, if a Member of Parliament is absent for how many days, is their seat 

declared vacant? 

(A)  30 Days (B) 60 Days 

(C) 90 Days (D) 120 Days 

56. The GST Council was formed under which Article inserted by the 101st Constitutional 

Amendment? 

(A) Article 246 A (B) Article 269 A 

(C) Article 279 A (D) Article 280 

57. Under which Article does the President of India may address either House or both 

Houses of Parliament? 

(A)  Article 100 (B) Article 86 

(C)  Article 92 (D) Article 102 

58. Which of the following Constitutional Amendments restored the power of judicial review 

of Fundamental Rights curtailed during the Emergency? 

(A)  44th Amendment (B) 42nd Amendment 

(C)  52nd Amendment (D) 86th Amendment 

59. Under Article 106, the authority to determine salaries of Member of Parliament lies 

with: 

(A)  President (B) Prime Minister 

(C)  Parliament by law (D) Finance Commission 

60. The 105th Constitutional Amendment relates to: 

(A) Cooperative societies 

(B) Powers of President 

(C) Restoring states‘ power to identify OBCs 

(D) Scrapping Article 370 



 

 

109/2025-K 

A -29- 

54. ಲೊೋಔಸಬೆಮಲ್ಜಲ ಸಿಪೋಔರ್ ಄ವಯ ಭತದ಺ನದ ಹಕ್ಸಕನ ಫಗೆೆ ಮ಺ವ ಄ನುಚೆಿೋದವು ವಯವಹರಿಸುತುದೆ?
(A) ಄ನುಚೆಿೋದ 86 (B) ಄ನುಚೆಿೋದ 97

(C) ಄ನುಚೆಿೋದ 101 (D) ಄ನುಚೆಿೋದ 100 

55. ಄ನುಚೆಿೋದ 101 ಯ ಄ಡಿಮಲ್ಜಲ, ಸಂಸತ್ರುನ ಸದಸಯಯು ಎಷ್ಕುಿ ದಿನಖಳವಯೆಗೆ ಗೆೈಯುಸ಺ಜ್ಯ಺ಗಿದಾಯೆ, ಄ವಯ ಷ಺ಿನ ಖ಺ಲ್ಜ ಎಂದು 
ಘೂೋಷ್ಟ್ಸಲ಺ಖುತುದೆ?

(A)  30 ದಿನಖಳು (B) 60 ದಿನಖಳು

(C) 90 ದಿನಖಳು (D) 120 ದಿನಖಳು 

56. 101 ನೆೋ ಷ಺ಂವಿಧ಺ನ್ನಔ ತ್ರದುಾ಩ಡಿಮ ಭೂಲ್ಔ ಮ಺ವ ಄ನುಚೆಿೋದದ ಄ಡಿಮಲ್ಜಲ GST ಕೌನ್ನಾಲ್ ಄ನುಿ ಯಚಿಸಲ಺ಗಿದೆ?

(A) ಄ನುಚೆಿೋದ 246 ಎ (B) ಄ನುಚೆಿೋದ 269 ಎ

(C) ಄ನುಚೆಿೋದ 279 ಎ (D) ಄ನುಚೆಿೋದ 280 

57. ಬ಺ಯತದ ಯ಺ಷ್ಕರ಩ತ್ರಖಳು ಮ಺ವ ಄ನುಚೆಿೋದದ ಄ಡಿಮಲ್ಜಲ ಸಂಸತ್ರುನ ಮ಺ವುದ಺ದಯೂ ಑ಂದು ಸದನವೋ ಄ಥ಴಺ ಎಯಡ್ೂ 
ಸದನಖಳನೂಿ ಈದೆಾೋಶ್ಚಸಿ ಭ಺ತನ಺ಡ್ಫಹುದು?

(A)  ಄ನುಚೆಿೋದ 100 (B) ಄ನುಚೆಿೋದ 86 

(C) ಄ನುಚೆಿೋದ 92 (D) ಄ನುಚೆಿೋದ 102 

58. ತುತುಮ ಩ರಿಸಿಿತ್ರಮ ಸಭಮದಲ್ಜಲ ಮಟ್ಔುಗೊಳಸಲ಺ದ ಭೂಲ್ಬೂತ ಹಔುಕಖಳ ನ಺ಯಮ಺ಂಖ ಩ರಿಶ್ಚೋಲ್ನೆಮ 
಄ಧಿಕ಺ಯವನುಿ ಇ ಕೆಳಗಿನ ಮ಺ವ ಷ಺ಂವಿಧ಺ನ್ನಔ ತ್ರದುಾ಩ಡಿಖಳು ಭಯುಷ಺ಿಪಿಸಿದವು?

(A) 44ನೆೋ ತ್ರದುಾ಩ಡಿ (B) 42ನೆೋ ತ್ರದುಾ಩ಡಿ

(C) 52ನೆೋ ತ್ರದುಾ಩ಡಿ (D) 86ನೆೋ ತ್ರದುಾ಩ಡಿ 

59. ಄ನುಚೆಿೋದ 106ಯ ಄ಡಿಮಲ್ಜಲ, ಸಂಸತ್ ಸದಸಯಯ ಴ೆೋತನವನುಿ ನ್ನಧಮರಿಸುವ ಄ಧಿಕ಺ಯ ಆವರಿಗಿದೆ :

(A)  ಄ಧಯಕ್ಷ (B) ಩ರಧ಺ನ ಭಂತ್ರರ

(C) ಕ಺ನೂನ್ನನ ಩ರಕ಺ಯ ಸಂಸತುು (D) ಹಣಕ಺ಸು ಅಯೋಖ 

60. 105ನೆೋ ಷ಺ಂವಿಧ಺ನ್ನಔ ತ್ರದುಾ಩ಡಿಮು ಆವುಖಳಗೆ ಸಂಫಂಧಿಸಿದೆ :

(A) ಸಹಕ಺ರಿ ಸಂಗಖಳು

(B) ಄ಧಯಕ್ಷಯ ಄ಧಿಕ಺ಯಖಳು

(C) OBCಖಳನುಿ ಖುಯುತ್ರಸುವ ಯ಺ಜ್ಯಖಳ ಄ಧಿಕ಺ಯವನುಿ ಭಯುಷ಺ಿಪಿಸುವುದು  

(D) ಄ನುಚೆಿೋದ 370 ಯದುಾ 
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61. As per the provisions of the Information Technology Act, 2000, sensitive personal data or 

information shall be prescribed by the Central Government in consultation with which of 

the following : 

(A) Professional bodies or associations as it may deem fit 

(B) Parliamentary Committee constituted as per the Act 

(C) National Human Rights Commission and other NGO‘s 

(D) A Committee constituted by Supreme Court of India  

62. Match List I with List II as per the provisions of Information Technology Act, 2000 : 

 List I List II 

 I. Section 66C a. Cyber Terrorism 

 II. Section 66D b. Cheating by Personation 

 III. Section 66E c. Violation of Privacy 

 IV. Section 66F  d. Identify Theft 

 (A) I-d; II-b; III-c; IV-a (B) I-a; II-b; III-c; IV-d 

(C) I-d; II-a; III-b; IV-c (D) I-d; II-c; III-b; IV-a 

63. As per the provisions of Information Technology Act, 2000, the punishment for identity 

theft is :  

(A) Imprisonment upto 2 years and fine upto one lakh rupees 

(B) Imprisonment upto 3 years and fine upto one lakh rupees 

(C) Imprisonment upto 2 years and fine upto two lakhs rupees 

(D) Imprisonment upto 3 years and fine upto two lakhs rupees 

64. What is the name of the Indian government‘s official digital currency? 

(A) Bharat Coin (B) Crypto Rupee 

(C) Digital Rupee (D) e-Cash India 

65. Which Schedule of the Information Technology Act, 2000 specifies the electronic 

techniques for electronic signatures? 

(A) First Schedule (B) Second Schedule 

(C) Third Schedule (D) Fourth Schedule 
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61. ಭ಺ಹಿತ್ರ ತಂತರಜ್ಞ಺ನ ಕ಺ಯ್ಕಾ, 2000 ಯ ನ್ನಫಂಧನೆಖಳ ಩ರಕ಺ಯ, ಸೂಕ್ಷಮ ಴ೆೈಮಕ್ಸುಔ ಡೆೋರ್಺ ಄ಥ಴಺ ಭ಺ಹಿತ್ರಮನುಿ 
ಕೆೋಂದರ ಸಕ಺ಮಯವು ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ಮ಺ವುದಯೊಂದಿಗೆ ಸಭ಺ಲೊೋಚಿಸಿ ಸೂಚಿಸಫೆೋಔು?

(A) ವೃತ್ರು಩ಯ ಸಂಷೆಿಖಳು ಄ಥ಴಺ ಸಂಗಖಳು ಸೂಔು಴ೆಂದು ಩ರಿಖಣಿಸಫಹುದು

(B) ಕ಺ಯ್ಕಾಮ ಩ರಕ಺ಯ ಯಚಿಸಲ಺ದ ಸಂಸದಿೋಮ ಸರ್ಮತ್ರ

(C) ಯ಺ಷ್ಟ್ರೋಮ ಭ಺ನವ ಹಔುಕಖಳ ಅಯೋಖ ಭತುು ಆತಯ NGOಖಳು  

(D) ಬ಺ಯತದ ಸುಪಿರೋಂ ಕೊೋರ್ಟಮ ಯಚಿಸಿದ ಸರ್ಮತ್ರ 

62. ಭ಺ಹಿತ್ರ ತಂತರಜ್ಞ಺ನ ಕ಺ಯ್ಕಾ, 2000 ಯ ನ್ನಫಂಧನೆಖಳ ಩ರಕ಺ಯ ಩ಟ್ಟಿ-I ಄ನುಿ ಩ಟ್ಟಿ-II ನೊಂದಿಗೆ ಸೊಂದಿಸಿ :

 ಩ಟ್ಟಿ-I   ಩ಟ್ಟಿ-II 

I.  ಷೆಕ್ಷನ್ 66C  a.  ಷೆೈಫರ್ ಬಯೋತ಺ಪದನೆ 

II.  ಷೆಕ್ಷನ್ 66D  b.  ವಯಕ್ಸುತಾದಿಂದ ವಂಚನೆ 

III.  ಷೆಕ್ಷನ್ 66E  c.  ಗೌ಩ಯತೆಮ ಈಲ್ಲಂಗನೆ 

IV.  ಷೆಕ್ಷನ್ 66F  d.  ಔಳುತನವನುಿ ಖುಯುತ್ರಸುವುದು 

(A) I-d; II-b; III-c; IV-a (B) I-a; II-b; III-c; IV-d 

(C) I-d; II-a; III-b; IV-c (D) I-d; II-c; III-b; IV-a 

63. ಭ಺ಹಿತ್ರ ತಂತರಜ್ಞ಺ನ ಕ಺ಯ್ಕಾ, 2000 ಯ ನ್ನಫಂಧನೆಖಳ ಩ರಕ಺ಯ, ಐಡೆಂಟ್ಟಟ್ಟ ಥೆಫ್ಿ ಗೆ ಶ್ಚಕ್ಷೆ:

(A) 2 ವಷ್ಕಮಖಳವಯೆಗೆ ಜೆೈಲ್ು ಶ್ಚಕ್ಷೆ ಭತುು ಑ಂದು ಲ್ಕ್ಷ ಯೂ಩಺ಯಿಖಳವಯೆಗೆ ದಂಡ್

(B) 3 ವಷ್ಕಮಖಳವಯೆಗೆ ಜೆೈಲ್ು ಶ್ಚಕ್ಷೆ ಭತುು ಑ಂದು ಲ್ಕ್ಷ ಯೂ಩಺ಯಿಖಳವಯೆಗೆ ದಂಡ್

(C) 2 ವಷ್ಕಮಖಳವಯೆಗೆ ಜೆೈಲ್ು ಶ್ಚಕ್ಷೆ ಭತುು ಎಯಡ್ು ಲ್ಕ್ಷ ಯೂ಩಺ಯಿಖಳವಯೆಗೆ ದಂಡ್  

(D) 3 ವಷ್ಕಮಖಳವಯೆಗೆ ಜೆೈಲ್ು ಶ್ಚಕ್ಷೆ ಭತುು ಎಯಡ್ು ಲ್ಕ್ಷ ಯೂ಩಺ಯಿಖಳವಯೆಗೆ ದಂಡ್ 

64. ಬ಺ಯತ ಸಕ಺ಮಯದ ಄ಧಿಔೃತ ಡಿಜಿಟ್ಲ್ ಔಯೆನ್ನಾಮ ಸೆಸಯೆೋನು?

(A) ಬ಺ಯತ್ ಕ಺ಯಿನ್ (B) ಕ್ಸರಪಿೋ ಯುಪಿೋ

(C) ಡಿಜಿಟ್ಲ್ ಯುಪಿೋ (D) ಆ-ಕ಺ಯಶ್ ಆಂಡಿಮ಺ 

65. ಭ಺ಹಿತ್ರ ತಂತರಜ್ಞ಺ನ ಕ಺ಯ್ಕಾ, 2000 ಯ ಮ಺ವ ಴ೆೋಳ಺಩ಟ್ಟಿಮು ಎಲೆಕ಺ರನ್ನಕ ಸಹಿಖಳಗೆ ಎಲೆಕ಺ರನ್ನಕ ತಂತರಖಳನುಿ 
ನ್ನದಿಮಷ್ಕಿ಩ಡಿಸುತುದೆ?

(A) ಮದಲ್ನೆೋ ಴ೆೋಳ಺಩ಟ್ಟಿ (B) ಎಯಡ್ನೆೋ ಴ೆೋಳ಺಩ಟ್ಟಿ
(C) ಭೂಯನೆೋ ಴ೆೋಳ಺಩ಟ್ಟಿ (D) ನ಺ಲ್ಕನೆೋ ಴ೆೋಳ಺಩ಟ್ಟಿ 
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66. How many digits are there in an IMSI number used to identify a mobile subscriber? 

(A) 10 digits (B) 12 digits 

(C) 15 digits (D) 18 digits 

67. In the context of internet and mobile technology, what does the acronym GPS stand for? 

(A) Global Positioning System (B) General Packet Switching 

(C) Global Protocol Service (D) Geo-Pointing Satellite 

68. Among the following which is a variant of ‗Denial-of-Service Attacks‘? 

(A) DDoS (B) DdSA 

(C) DDaS (D) DDsA 

69. Among the following Sections of the Information Technology Act, 2000 which Section 

deals with Tampering with Computer Source Code : 

(A) Section 63 (B) Section 64 

(C)  Section 66 (D) Section 65 

70. Among the following cases, in which case the Hon‘ble Karnataka High Court observed 

‗ATM is not a computer by itself and it is connected to a computer that performs the 

tasks requested by the person using ATM‘s‘ :  

(A)  Diebold Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes 

(B) Dyelord Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes 

(C) Grworoot Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes 

(D) Byeroot Systems Pvt. Ltd. v. The Commissioner of Commercial Taxes 

71. Which Neo-Freudian emphasized social factors and minimized Freud‘s focus on sexual 

drives? 

(A)  Erik Erikson (B) Carl Jung 

(C) Alfred Adler (D) Karen Horney 
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66. ಮಫೆೈಲ್ ಚಂದ಺ದ಺ಯಯನುಿ ಖುಯುತ್ರಸಲ್ು ಫಳಸುವ IMSI ಸಂಖೆಯಮಲ್ಜಲ ಎಷ್ಕುಿ ಄ಂಕೆಖಳ಴ೆ?

(A) 10 ಄ಂಕೆಖಳು (B) 12 ಄ಂಕೆಖಳು

(C) 15 ಄ಂಕೆಖಳು (D) 18 ಄ಂಕೆಖಳು 

67. ಆಂಟ್ನೆಮರ್ಟ ಭತುು ಮಫೆೈಲ್ ತಂತರಜ್ಞ಺ನದ ಸಂದಬಮದಲ್ಜಲ, GPS ಎಂಫ ಸಂಕ್ಷಿ಩ು ಯೂ಩ ಏನನುಿ ಸೂಚಿಸುತುದೆ?

(A) ಗೊಲೋಫಲ್ ಪಸಿಷ್ಕನ್ನಂಗ್ ಸಿಸಿಮ್ಸ (B) ಜ್ನಯಲ್ ಩಺ಯಕೆರ್ಟ ಸಿಾಚಿಂಗ್

(C) ಗೊಲೋಫಲ್ ಪರೋರ್ೊೋಕ಺ಲ್ ಸವಿೋಮಸ್ (D) ಜಿಯೋ-಩಺ಯಿಂಟ್ಟಂಗ್ ಷ಺ಟ್ಲೆೈರ್ಟ 

68. ಇ ಕೆಳಗಿನವುಖಳಲ್ಜಲ ‗Denial-of-Service Attacks‘ ಖಳ ಯೂ಩಺ಂತಯ ಮ಺ವುದು?

(A)  DDoS (B) DdSA 

(C) DDaS (D) DDsA 

69. ಭ಺ಹಿತ್ರ ತಂತರಜ್ಞ಺ನ ಕ಺ಯ್ಕಾ, 2000 ಯ ಕೆಳಗಿನ ಷೆಕ್ಷನ್ ಖಳಲ್ಜಲ ಇ ವಿಬ಺ಖವು ಔಂ಩ೂಯಟ್ರ್ ಭೂಲ್ ಕೊೋಡ್ ಄ನುಿ 
ವಿಯೂ಩ಗೊಳಸುವುದಯ ಫಗೆೆ ವಯವಹರಿಸುತುದೆ :

(A) ಷೆಕ್ಷನ್ 63 (B) ಷೆಕ್ಷನ್ 64

(C) ಷೆಕ್ಷನ್ 66 (D) ಷೆಕ್ಷನ್ 65 

70. ಇ ಕೆಳಗಿನ ಩ರಔಯಣಖಳಲ್ಜಲ, ಗೌಯ಴಺ನ್ನಾತ ಔನ಺ಮಟ್ಔ ಸೆೈಕೊೋರ್ಟಮ 'ಎಟ್ಟಎಂ ಸಾತಃ ಔಂ಩ೂಯಟ್ರ್ ಄ಲ್ಲ ಭತುು ಄ದು ಎಟ್ಟಎಂ 
ಫಳಸುವ ವಯಕ್ಸುಮು ವಿನಂತ್ರಸಿದ ಕ಺ಮಮಖಳನುಿ ನ್ನವಮಹಿಸುವ ಔಂ಩ೂಯಟ್ರ್ ಗೆ ಸಂ಩ಔಮ ಸೊಂದಿದೆ' ಎಂದು ಖಭನ್ನಸಿದೆ :

(A)  ಡೆೈಫೊೋಲ್್ ಸಿಸಿಮ್ಸಾ ಩ೆೈ಴ೆೋರ್ಟ ಲ್ಜರ್ಮರ್ೆಡ್ v. ಴಺ಣಿಜ್ಯ ತೆರಿಗೆ ಅಮುಔುಯು

(B) ಡೆೈಲ಺ಡ್ಮ ಸಿಸಿಮ್ಸಾ ಩ೆೈ಴ೆೋರ್ಟ ಲ್ಜರ್ಮರ್ೆಡ್ v. ಴಺ಣಿಜ್ಯ ತೆರಿಗೆ ಅಮುಔುಯು

(C) ಗೊರೊಯೂರ್ಟ ಸಿಸಿಮ್ಸಾ ಩ೆೈ಴ೆೋರ್ಟ ಲ್ಜರ್ಮರ್ೆಡ್ v. ಴಺ಣಿಜ್ಯ ತೆರಿಗೆ ಅಮುಔುಯು  

(D) ಫೆೈಯೂರ್ಟ ಸಿಸಿಮ್ಸಾ ಩ೆೈ಴ೆೋರ್ಟ ಲ್ಜರ್ಮರ್ೆಡ್ v. ಴಺ಣಿಜ್ಯ ತೆರಿಗೆ ಅಮುಔುಯು 

71. ಮ಺ವ ನ್ನಯೋ-ಪ಺ರಯಿ್ಮನ್ ಷ಺ಭ಺ಜಿಔ ಄ಂಶ್ಖಳನುಿ ಑ತ್ರುಸೆೋಳದಯು ಭತುು ಲೆೈಂಗಿಔ ಡೆೈವ ಖಳ ಮೆೋಲೆ ಪ಺ರಯ್್ಡ ನ 
ಖಭನವನುಿ ಔಡಿಮೆ ಭ಺ಡಿದಯು?

(A) ಎರಿಕ ಎರಿಔಾನ್ (B) ಕ಺ಲ್ಮ ಜ್ಂಗ್

(C) ಅಲೆಫರಡ್ ಅಡ್ಲರ್ (D) ಔಯೆನ್ ಸ಺ನ್ನಮ 
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72. Gestalt psychologists studied the phi phenomenon to illustrate that : 

(A) Movement perception is learned through reinforcement 

(B) Visual illusions are due to top-down processing 

(C) We perceive motion even when no movement occurs 

(D) Perception relies solely on retinal image changes 

73. Task-switching costs occur when performance declines due to : 

(A) Divided attention across simultaneous tasks 

(B) Shifting attention between tasks 

(C) Sustained attention over time 

(D) Emotional distraction 

74. The levels of processing theory argues that memory retention depends on : 

(A) The speed of learning 

(B) The depth at which information is processed 

(C) The frequency of rehearsal 

(D) The length of the retention interval 

75. What is the Flynn effect? 

(A) The observed rise in average IQ scores over time 

(B) A type of emotional intelligence 

(C) A theory of multiple intelligences 

(D) The decline of intelligence with age 

76. During a social event, a person unconsciously mirrors the smiles and laughter of others, 

leading to shared positive emotions. This is an example of : 

(A) Emotional contagion (B) Cognitive appraisal 

(C) Affect labeling (D) Opponent-process theory 
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72. ಜೆಷ಺ಿಲ್ಿ ಭನವ಺ೆಸರಜ್ಞಯು ಪೆೈ ವಿದಯಭ಺ನವನುಿ ಄ಧಯಮನ ಭ಺ಡಿ ವಿವರಿಸುವುದು :

(A)  ಚಲ್ನೆಮ ಖರಹಿಕೆಮನುಿ ಫಲ್ವಧಮನೆಮ ಭೂಲ್ಔ ಔಲ್ಜಮಲ಺ಖುತುದೆ

(B) ದೃಶ್ಯ ಬರಮೆಖಳು ಮೆೋಲ್ಜನ್ನಂದ ಕೆಳಕೆಕ ಸಂಸಕಯಣೆಯಿಂದ಺ಗಿ಴ೆ

(C) ಮ಺ವುದೆೋ ಚಲ್ನೆ ಸಂಬವಿಸದಿದಾಯೂ ನ಺ವು ಚಲ್ನೆಮನುಿ ಖರಹಿಸುತೆುೋ಴ೆ  

(D) ಖರಹಿಕೆಮು ಕೆೋವಲ್ ಯೆಟ್ಟನ಺ದ ಚಿತರ ಫದಲ಺ವಣೆಖಳ ಮೆೋಲೆ ಄ವಲ್ಂಬಿತ಴಺ಗಿದೆ 

73. ಕ಺ಮಮಕ್ಷಭತೆ ಔಡಿಮೆಮ಺ದ಺ಖ ಕ಺ಮಮ-ಫದಲ಺ವಣೆ ಴ೆಚುಖಳು ಸಂಬವಿಸುವುದಕೆಕ ಕ಺ಯಣ :

(A)  ಏಔಕ಺ಲ್ಜಔ ಕ಺ಮಮಖಳಲ್ಜಲ ಖಭನ ವಿಬಜ್ನೆ

(B) ಕ಺ಮಮಖಳ ನಡ್ು಴ೆ ಖಭನವನುಿ ಫದಲ಺ಯಿಸುವುದು

(C) ಕ಺ಲ಺ನಂತಯದಲ್ಜಲ ನ್ನಯಂತಯ ಖಭನ  

(D) ಬ಺ವನ಺ತಮಔ ಴಺ಯಔುಲ್ತೆ 

74. ಸಂಸಕಯಣ಺ ಸಿದ಺ಧಂತದ ಭಟ್ಿಖಳು ಮೆಮರಿ ಧ಺ಯಣವನುಿ ಄ವಲ್ಂಬಿಸಿಯುತುದೆ ಎಂದು ಴಺ದಿಸುತು಴ೆ :

(A) ಔಲ್ಜಕೆಮ ಴ೆೋಖ (B) ಭ಺ಹಿತ್ರಮನುಿ ಸಂಸಕರಿಸುವ ಅಳ

(C) ಩ೂ಴಺ಮಬ಺ಯಸದ ಅವತಮನ (D) ಧ಺ಯಣ ಭಧಯಂತಯದ ಈದಾ 

75. ಫಿಿನ್ ಩ರಿಣ಺ಭ ಎಂದಯೆೋನು?

(A) ಕ಺ಲ಺ನಂತಯದಲ್ಜಲ ಸಯ಺ಸರಿ IQ ಄ಂಔಖಳಲ್ಜಲ ಔಂಡ್ುಫಯುವ ಏರಿಕೆ

(B) ಑ಂದು ರಿೋತ್ರಮ ಬ಺ವನ಺ತಮಔ ಫುದಿಧವಂತ್ರಕೆ

(C) ಫಹು ಫುದಿಧವಂತ್ರಕೆಖಳ ಸಿದ಺ಧಂತ  

(D) ವಮಸಿಾನೊಂದಿಗೆ ಫುದಿಧವಂತ್ರಕೆಮ ಔುಸಿತ 

76. ಷ಺ಭ಺ಜಿಔ ಗಟ್ನೆಮ ಸಭಮದಲ್ಜಲ, ಑ಫಬ ವಯಕ್ಸುಮು ಄ರಿವಿಲ್ಲದೆ ಆತಯಯ ಭುಖುಳಿಗೆ ಭತುು ನಖುವನುಿ ಩ರತ್ರಬಿಂಬಿಸುತ಺ುನೆ, 

ಆದು ಹಂಚಿಕೆಮ ಸಕ಺ಯ಺ತಮಔ ಬ಺ವನೆಖಳಗೆ ಕ಺ಯಣ಴಺ಖುತುದೆ. ಆದು ಑ಂದು ಈದ಺ಹಯಣೆಮ಺ಗಿದೆ:

(A) ಬ಺ವನ಺ತಮಔ ಷೊೋಂಔು (B) ಄ರಿವಿನ ಭೌಲ್ಯಭ಺಩ನ

(C) ಲೆೋಫಲ್ಜಂಗ್ ಮೆೋಲೆ ಩ರಿಣ಺ಭ ಬಿೋಯುತುದೆ (D) ಎದುಯ಺ಳ-಩ರಕ್ಸರಯ್ಕ ಸಿದ಺ಧಂತ 
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77. A person experiences intense fear and avoidance of flying, which disrupts their job 

requiring travel. Their therapist uses systematic desensitization to help them. How does 

this treatment work? 

(A) By encouraging the person to avoid flying completely 

(B) By gradually exposing the person to flying-related stimuli while teaching 

relaxation techniques 

(C) By prescribing medication to suppress anxiety symptoms only 

(D) By using hypnosis to erase the fear memory 

78. A teacher assumes students from a certain background will perform poorly and 

consequently gives them less attention, which leads to poorer performance this an 

example of 

(A) Self-fulfilling prophecy (B) Stereotype threat 

(C) Confirmation bias (D) Social loafing 

79. During middle adulthood, a person who focuses only on personal success without 

Contributing to others is likely to experience : 

(A) Stagnation (B) Industry 

(C) Initiative (D) Guilt 

80. In the postconventional level, moral reasoning is motivated by : 

(A) Avoiding punishment 

(B) Obeying authority 

(C) Seeking approval 

(D) Core values and universal principles 
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77. ಑ಫಬ ವಯಕ್ಸುಮು ತ್ರೋವರ಴಺ದ ಬಮ ಭತುು ಸ಺ಯ಺ಟ್ದ ತಪಿಪಸಿಕೊಳುುವಿಕೆಮನುಿ ಄ನುಬವಿಸುತ಺ುನೆ, ಆದು ಩ರಮ಺ಣದ 

಄ಖತಯವಿಯುವ ಄ವಯ ಕೆಲ್ಸಕೆಕ ಄ಡಿ್಩ಡಿಸುತುದೆ. ಄ವಯ ಚಿಕ್ಸತಾಔಯು ಄ವರಿಗೆ ಸಸ಺ಮ ಭ಺ಡ್ಲ್ು ವಯವಸಿಿತ಴಺ದ 

ಸಂ಴ೆೋದನ಺ಶ್ಚೋಲ್ತೆಮನುಿ ಫಳಸುತ಺ುಯೆ. ಇ ಚಿಕ್ಸತೆಾಮು ಸೆೋಗೆ ಕೆಲ್ಸ ಭ಺ಡ್ುತುದೆ?

(A)  ವಯಕ್ಸುಮನುಿ ಸಂ಩ೂಣಮ಴಺ಗಿ ಸ಺ಯ಺ಟ್ ಭ಺ಡ್ುವುದನುಿ ತಪಿಪಸಲ್ು ಪರೋತ಺ಾಹಿಸುವ ಭೂಲ್ಔ

(B) ವಿವ಺ರಂತ್ರ ತಂತರಖಳನುಿ ಔಲ್ಜಸು಴಺ಖ ವಯಕ್ಸುಮನುಿ ಔರಮೆೋಣ ಸ಺ಯ಺ಟ್-ಸಂಫಂಧಿತ ಩ರಚೊೋದಔಖಳಗೆ ಑ಡ್ು್ವ 

ಭೂಲ್ಔ

(C) ಅತಂಔದ ಲ್ಕ್ಷಣಖಳನುಿ ಭ಺ತರ ನ್ನಖರಹಿಸಲ್ು ಓಷ್ಕಧಿಖಳನುಿ ಶ್ಚಪ಺ಯಸು ಭ಺ಡ್ುವ ಭೂಲ್ಔ  

(D) ಬಮದ ಸಮಯಣೆಮನುಿ ಄ಳಸಲ್ು ಹಿ಩಺ಿಸಿಸ್ ಄ನುಿ ಫಳಸುವ ಭೂಲ್ಔ 

78. ಑ಫಬ ಶ್ಚಕ್ಷಔನು ಑ಂದು ನ್ನದಿಮಷ್ಕಿ ಹಿನೆಿಲೆಮ ವಿದ಺ಯರ್ಥಮಖಳು ಔಳ಩ೆ ಩ರದಶ್ಮನ ನ್ನೋಡ್ುತ಺ುಯೆ ಎಂದು ಬ಺ವಿಸುತ಺ುನೆ ಭತುು 

಩ರಿಣ಺ಭ಴಺ಗಿ ಄ವರಿಗೆ ಔಡಿಮೆ ಖಭನ ನ್ನೋಡ್ುತ಺ುನೆ, ಆದು ಔಳ಩ೆ ಕ಺ಮಮಕ್ಷಭತೆಗೆ ಕ಺ಯಣ಴಺ಖುತುದೆ ಆದಕೆಕ 

ಈದ಺ಹಯಣೆ

(A)  ಸಾಮಂ-಩ೂಯೆೈಸುವ ಬವಿಷ್ಕಯ಴಺ಣಿ (B) ಸಿಿೋರಿಯರ್ೆೈಪ್ ಫೆದರಿಕೆ

(C) ದೃಢೋಔಯಣ ಩ಕ್ಷ಩಺ತ (D) ಷ಺ಭ಺ಜಿಔ ಕೊಯತೆ 

79. ಭಧಯಭ ಩ೌರಢ಺ವಷೆಿಮಲ್ಜಲ, ಆತಯರಿಗೆ ಕೊಡ್ುಗೆ ನ್ನೋಡ್ದೆ ಴ೆೈಮಕ್ಸುಔ ಮಶ್ಸಿಾನ ಮೆೋಲೆ ಭ಺ತರ ಖಭನಹರಿಸುವ ವಯಕ್ಸುಮು 

಄ನುಬವಿಸುವ ಷ಺ಧಯತೆಯಿದೆ :

(A) ನ್ನಶ್ುಲ್ತೆ (B) ಈದಯಭ

(C) ಈ಩ಔರಭ (D) ಄಩ಯ಺ಧ 

80. ಷ಺ಂ಩ರದ಺ಯಿಔ ನಂತಯದ ಭಟ್ಿದಲ್ಜಲ, ನೆೈತ್ರಔ ತ಺ಕ್ಸಮಔತೆಮು ಆವುಖಳಂದ ಩ೆರೋಯೆೋಪಿಸಲ್ಪಟ್ಟಿದೆ :

(A)  ಶ್ಚಕ್ಷೆಮನುಿ ತಪಿಪಸುವುದು

(B) ಄ಧಿಕ಺ಯವನುಿ ಩಺ಲ್ಜಸುವುದು

(C) ಄ನುಮೋದನೆಮನುಿ ಔಂಡ್ುಹಿಡಿಮುವುದು  

(D) ಭೂಲ್ ಭೌಲ್ಯಖಳು ಭತುು ಷ಺ವಮತ್ರರಔ ತತಾಖಳು 
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81. Find the name of the part of speech given in bold in the given sentence from the 

following options : 

 I will never follow you. 

(A) Adjective (B) Adverb 

(C) Conjunction (D) Interjection 

82. Correct the given sentence by choosing the suitable verb form from the following options :  

 The girls and boys of class V who have registered for the study tour have requesting 

for leave since yesterday. 

(A) Are requesting (B) Have requested 

(C) Have been requesting (D) Had requested 

83. Identify compound complex sentence from the following : 

(A) I saw her when I was returning from the college. 

(B) Being a timid boy, he preferred to be silent about the matter. 

(C) I have a spare notebook yet I do not want to give it to her. 

(D) My friend who was in Dubai came yesterday and gave me some gifts. 

84. Choose the correct sentence from the following : 

(A) If you had come I would have joined 

(B) If I were a bird I will fly 

(C) If you study you will be passed 

(D) If you will work I will have paid you well 

85. Fill in the blanks by using the correct preposition from the options :  

 He fought ____________ his life the whole day. 

(A)  with (B) by 

(C) for (D) in 
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86. Use the appropriate collective noun from the options to complete the given sentence : 

 She found ____________ of arrows inside the cabin. 

(A) Pack (B) Fleet 

(C) Litter (D) Quiver 

87. How many words given below are compound words? 

 Ice cream, sailboat, rain fall, backyard, football, butterfly 

(A) None (B) All 

(C) Two (D) One 

88. The strike was ____________. Find the appropriate phrasal verb from the following to fill 

in the blanks : 

(A) Broken down (B) Gone through 

(C) Looked up (D) Called off 

89. She had to bite the bullet during her training period.  

 Here the idiom in bold means : 

(A)  Unpleasant situation  

(B) Courageous attitude 

(C) Threatening moments  

(D) Exciting moments 

90. Find out the correctly spelt word from the following : 

(A) Acquiantence (B) Aquaintence 

(C) Acquaintance (D) Aqueintance 
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91.  ‗ಸಷ಺ಯಸ಺ಯ‘- ಸಂ಴಺ದಿ ಸರಿಮ಺ದ ಯೂ಩ : 

(A)  ವ಺ಕಸ಺ಯ   

(B) ವ಺ಔಸ಺ಯ 

(C) ವ಺ಖ಺ಸ಺ಯ  

(D) ವ಺ಕ಺ಸ಺ಯ 

92. ಸರಿಮ಺ದ ಴಺ಔಯವನುಿ ಖುಯುತ್ರಸಿ : 

(A) ಅದಿ಩ುಯ಺ಣದ ತ್ರೋಥಮಂಔಯಯೊಳಗೆ ಮದಲ್ಜಖನ಺ದ ವೃಷ್ಕಬನ಺ಥನ ಩ೌಯ಺ಣಿಔ ಚರಿತರ಴ೆೋ ವಸುು  

(B) ತ್ರೋಥಮಂಔಯಯೊಳಗೆ ಩ೌಯ಺ಣಿಔ ಚರಿತರ಴ೆೋ ಮದಲ್ಜಖನ಺ದ ವೃಷ್ಕಬನ಺ಥನ ಅದಿ಩ುಯ಺ಣದ ವಸುು 

(C)  ತ್ರೋಥಮಂಔಯಯೊಳಗೆ ಮದಲ್ಜಖನ಺ದ ವೃಷ್ಕಬನ಺ಥನ ಩ೌಯ಺ಣಿಔ ಚರಿತರ಴ೆೋ ಅದಿ಩ುಯ಺ಣದ ವಸುು  

(D) ತ್ರೋಥಮಂಔಯಯೊಳಗೆ ಮದಲ್ಜಖನ಺ದ ವೃಷ್ಕಬನ಺ಥನ ಅದಿ಩ುಯ಺ಣದ ಚರಿತರ಴ೆೋ ವಸುು 

93. The Court is adjourned – ಆದಯ ಸಂ಴಺ದಿ ಔನಿಡ್ ಄ನು಴಺ದ. 

(A) ನ಺ಯಮ಺ಲ್ಮವು ವಿಚ಺ಯಣೆಮನುಿ ಭುಂದೂಡಿದೆ  

(B) ನ಺ಯಮ಺ಲ್ಮವು ವಿಚ಺ಯಣೆಮನುಿ ಸಿಾೋಔರಿಸಿದೆ 

(C)  ನ಺ಯಮ಺ಲ್ಮವು ವಿಚ಺ಯಣೆಮನುಿ ಕೆೈಗೆತ್ರುಕೊಂಡಿದೆ  

(D) ನ಺ಯಮ಺ಲ್ಮವು ವಿಚ಺ಯಣೆಮನುಿ ಕೆೈಬಿಟ್ಟಿದೆ 

94. ಮೋಡ್ವನುಿ ಴಺ಹನ಴಺ಗಿಸಿಕೊಂಡ್ವನನುಿ ಹಿೋಗೆ ಔಯೆಮಫಹುದು. 

(A)  ಜಿೋಭೂತ಴಺ಹನ  

(B) ಫಬುರ಴಺ಹನ 

(C)  ಗೂಔ಴಺ಹನ  

(D) ಬೃಂಖ಴಺ಹನ 

95. ಸಭ಺ನ಺ಥಮಔವಲ್ಲದ ಩ದ : 

(A)  ಖಜ್ (B) ಭಧುಔರಿ 

(C) ಭತಂಖ (D) ಹಸಿು 
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96. ‗ಈತುಯ‘ – ಇ ಩ದದ ವಿಯುದ಺ಧಥಮಔ  : 

(A) ಄಩ ಈತುಯ (B) ದುಯುತುಯ 

(C) ವಿನುತುಯ (D) ನ್ನಯುತುಯ 

97. ‗ಭಣುಣ ಸೊಯು‘ – ನುಡಿಖಟ್ಟಿನ ಄ಥಮ : 

(A) ಶ್ರಭ಩ಡ್ು  

(B) ವಯವಷ಺ಮ ಭ಺ಡ್ು 

(C) ವಯಥಮ ಕೆಲ್ಸ ಭ಺ಡ್ು  

(D) ಭನೆಔಟ್ುಿ 

98. ಆಕೊಕಂಡ್ುಣುಣವ ಜ಺ಖದಲ್ಜಲ ಔದುಾಕೊಂಡ್ು ____________ - ಗ಺ದೆಮನುಿ ಩ೂಣಮಗೊಳಸಿ. 

(A)  ಸೊೋದಯು  

(B) ಫೆೋಯಿಸಿದಯು 

(C) ಫಡಿಸಿದಯು  

(D) ತ್ರಂದಯು 

99. ‗ಜ಺ತ್ರ‘ ಭತುು ‗಄ತ್ರೋತ‘ ಩ದಖಳನುಿ ಔೂಡಿಸಿ ಫಯೆದ ಯೂ಩ : 

(A) ಜ಺ತ್ರಮ಺ತ್ರೋತ  

(B) ಜ಺ತ಺ಯತ್ರೋತ 

(C) ಜ಺ತಯತ್ರೋತ  

(D) ಜ್ತ಺ಯತ್ರೋತ 

100. ಑ಂದು ಲ್ಕ್ಷದ ಄ಯವತೆುಯಡ್ು ಷ಺ವಿಯದ ಭೂಯು ನೂಯ ಎಂಬತೆುಯಡ್ು – ಆದಯ ಔನಿಡ್ ಄ಂಕ್ಸಮ ಯೂ಩ : 

(A) 169389 (B) 162382 

(C) 164384 (D) 168328 

–––––––––––––– 
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 1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. A, B, C, D IÐ} jLsV Aƒq SWLcOWt]sOç 

S\Lh| kOñW°tLeV j¤WOÐfV. 

 2. S\Lh| kOñW¾]R£  oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh| kOñW Aƒq SWLcV 

A\ÿa]\ÿ]ŸOºV. 

 3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh| kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs 

Cq]Õ]a¾]¤ SqXRÕaO¾]p]q]¨OU. 
 4. j]°¥¨jOvh]\ÿ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh| kOñWoLeV 

sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV. 
 5. S\Lh| kOñW NWo jÒ¡ kOrU\ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWo jÒ¡ CsæL¾ 

S\Lh| kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç  S\Lh| kOñWU oLã] vL°OW. 
 6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ| nLY¾Lp] y}¤ R\p]Åq]¨OU. D¾qRouOfLjOç AjOof] 

sn]\ÿLssæLRf S\Lh| kOñWU fOr¨L¢ kLa]sæ. 
 7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]\ÿ]q]¨OÐ S\Lh| kOñW¾]¤ 100 S\Lh|°tOU 

NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ A\ÿa]¨L¾SfL, W}r]pSfL, 

v]ŸOSkLpSfL Bp Sk^OW¥ DºLW]sæ; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ 

RWLºOvq]WpOU ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. 

CfV JãvOU NkiLjRÕŸfLeV. 

 8. CT S\Lh|SkÕr]Rs  1 oOf¤ 80 vRqpOç S\Lh|°¥  CUYæ}x]sOU WÐcp]sOoLp] 
A\ÿa]\ÿ]q]¨OÐO.  CT S\Lh|°tORa A¡ÀU f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥¨V CUYæ}xV 

oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV. 
 9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢ÒV  KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 

D¾qU WºOk]a]¨OÐf]jOç WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV. 
 10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 

èÈLkP¡vÿU vLp]¨OW. 
 11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. 

wq]pO¾qU RfqR´aO¾V K.IU.B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç 

wq]pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]\ÿV 

WrOÕ]¨OW.  
 12. KLSqL wq]pO¾q¾]jOU KqO  oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU  oL¡¨V 1/3 

jìoLvOWpOU R\áOU. D¾qU SqXRÕaO¾L¾  S\Lh|°¥¨V oL¡¨V jìoLvOW-p]sæ.  

 13. kq}ƒLyopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO 

DSh|LYL¡À]pOU  kq}ƒLzL¥ v]-ŸV kOr¾OSkLWL¢ kLa]sæ.  
 14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒ-p]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 

ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp]  NkX|Lk]¨OÐfLeV. 
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